ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	RAINBOW		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	15,000	1,000
Brood Origin:	HATCHERY	Receive		
Integrated/Segregate	d:	Planted	225,000	40,167
			,	,

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	10/2009	10/2009	TOKUL CR HATCHERY	15,000	15.0	1,000 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	03/2010	100,000	5.0	20,000	JUVENILE	SNOHOMISH CO LAKES		
03/2010	03/2010	40,000	5.0	8,000	JUVENILE	ISLAND CO LAKES		
04/2010	04/2010	20,000	2.0	10,000	JUVENILE	SNOHOMISH CO LAKES		
05/2010	05/2010	65,000	30.0	2,167	JUVENILE	LK STEVENS (SNOH)		

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Species:	CUTTHROAT		Total #	Total Pounds
Run:	RESIDENT COASTAL	Egg Take		
Stock:	TOKUL CR 07.0440	Shipping		
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated	:	Planted	25,000	56
	Data			
Estimated Brood I Egg Take Goal Estimated Transfe				

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
08/2009	08/2009	25,000	450.0	56	JUVENILE	REG 4 LAKES		

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009				
Species:	RAINBOW			Total #	Total Pounds
Run: Stock: Brood Origin:	NA CALIF-MT WHITNEY HATCHERY		Egg Take Shipping Receive		
Integrated/Segregated	1:	Planted	60,000	120	
Estimated Brood I Egg Take Goal	Data				
Estimated Transfe Shipped or Receive	er Data Start Date End Date	Facility	Number I	TPP Total	Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
07/2010	07/2010	60,000	500.0	120	JUVENILE	REG 4 LAKES		

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

CR-GOLDENDALE Egg Take Shipping 55,000 1,583	Brood Year:	2009			
CR-GOLDENDALEShipping55,0001,583ERYReceive430,000350	Species:	RAINBOW		Total #	Total Pounds
CR-GOLDENDALEShipping55,0001,583ERYReceive430,000350	Run:	NA	Egg Take		
ERY Receive 430,000 350	Stock:	SPRING CR-GOLDENDALE		55,000	1,583
Planted 275,000 40,667	Brood Origin:	HATCHERY		430,000	350
	Integrated/Segregate	ed:	Planted	275,000	40,667
		ed:			

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2009	12/2009	GOLDENDALE HATCHERY	360,000			EGGS EYED
Received	01/2010	01/2010	LAKEWOOD HATCHERY	70,000	200.0	350	JUVENILE
Shipped	06/2010	06/2010	WHITEHORSE POND	20,000	60.0	333	JUVENILE
Shipped	06/2010	06/2010	BAKER SP BEACHES 3+4	20,000	80.0	250	JUVENILE
Shipped	10/2010	10/2010	TOKUL CR HATCHERY	15,000	15.0	1,000	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	50,000	100.0	500	JUVENILE	SNOHOMISH CO LAKES		
03/2011	03/2011	100,000	5.0	20,000	JUVENILE	SNOHOMISH CO LAKES		
03/2011	03/2011	40,000	5.0	8,000	JUVENILE	ISLAND CO LAKES		
04/2011	04/2011	20,000	2.0	10,000	JUVENILE	SNOHOMISH CO LAKES		
05/2011	05/2011	65,000	30.0	2,167	JUVENILE	LK STEVENS (SNOH)		

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Species: CUTTHROAT		Total #	Total Pounds
Run: RESIDENT COAS	AL Egg Take		
Stock: TOKUL CR 07.		23,500	85
Brood Origin: HATCHERY	Receive	190,000	
Integrated/Segregated:	Planted	125,000	556

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	EELLS SPRINGS	40,000			EGGS GREEN
Received	01/2010	01/2010	EELLS SPRINGS	150,000			EGGS EYED
Shipped	05/2010	05/2010	WALLACE R HATCHERY	20,000	250.0	80	JUVENILE
Shipped	07/2010	07/2010	TOKUL CR HATCHERY	3,500	700.0	5	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	70,000	200.0	350	JUVENILE	SNOHOMISH CO LAKES		
05/2010	05/2010	10,000	200.0	50	JUVENILE	SKAGIT CO LAKES		
05/2010	05/2010	20,000	200.0	100	JUVENILE	ISLAND CO LAKES		
08/2010	08/2010	25,000	450.0	56	JUVENILE	REG 4 LAKES		

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	RAINBOW		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	CALIF-MT WHITNEY	Shipping	10,000	10
Brood Origin:	HATCHERY	Receive	75,000	
Integrated/Segregate	:d:	Planted	60,000	120
			,	

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2010	02/2010	EELLS SPRINGS	75,000			EGGS GREEN
Shipped	06/2010	06/2010	TOKUL CR HATCHERY	10,000	1,000.0	10	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
07/2011	07/2011	60,000	500.0	120	JUVENILE	REG 4 LAKES		

BAKER SP BEACHES 3+4

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run: Stock: Brood Origin: Integrated/Segregated:	NA BAKER R 03.0435 MIXED INTEGRATED	Egg Take Shipping Receive Planted	48,992	1,814
Estimated Brood Da Egg Take Goal	ta			

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type T	Fagged
06/2010	06/2010	5,130	28.0	183	JUVENILE	LK SHANNON (SKAG)	AD+FB(^)	
06/2010	06/2010	5,117	32.0	160	JUVENILE	BAKER LK (WHAT)	AD+FB(^)	
06/2010	06/2010	3,745	30.0	125	JUVENILE	BAKER LK (WHAT)	AD+PT	
06/2010	06/2010	35,000	26.0	1,346	JUVENILE	SKAGIT R 03.0176	AD	

Memo: Release number to be determined by the Baker Committee.

BAKER SP BEACHES 3+4

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Species:	RAINBOW	Total #	Total Pounds
Run: Stock: Brood Origin: Integrated/Segregat	NA SPRING CR-GOLDENDALE HATCHERY ted:	Egg Take Shipping Receive Planted 19,000	9,500
Estimated Brood Egg Take Goal	l Data		

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	17,500	2.0	8,750	JUVENILE	WHATCOM CO LAKES		
06/2010	06/2010	1,500	2.0	750	JUVENILE	SKAGIT CO LAKES		

BAKER SP BEACHES 3+4

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take	60,000	
Stock:	BAKER R 03.0435	Shipping		
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	58,992	2,199
Estimated Brood Da	ta			
Egg Take Goal 60,000				

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type Tagged
06/2011	06/2011	5,130	28.0	183	JUVENILE	LK SHANNON (SKAG)	AD+FB(^)
06/2011	06/2011	5,117	32.0	160	JUVENILE	BAKER LK (WHAT)	AD+FB(^)
06/2011	06/2011	3,745	30.0	125	JUVENILE	BAKER LK (WHAT)	AD+PT
06/2011	06/2011	45,000	26.0	1,731	JUVENILE	SKAGIT R 03.0176	AD

Memo: Release number to be determined by the Baker Committee.

BAKER SP BEACHES 3+4

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	RAINBOW		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Receive	20,000	250
Integrated/Segregated:		Planted	19,000	9,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	06/2010	06/2010	ARLINGTON HATCHERY	20,000	80.0	250 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2011	06/2011	17,500	2.0	8,750	JUVENILE	WHATCOM CO LAKES		
06/2011	06/2011	1,500	2.0	750	JUVENILE	SKAGIT CO LAKES		

BAKER SP BEACHES 3+4

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	SOCKEYE		Total #	Total Pounds
Run:	NA	Egg Take	2,794,000	
Stock:	BAKER R 03.0435	Shipping		
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	2,540,000	3,250
Estimated Brood Da	ta			
Egg Take Goal 2,794,	000			

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	05/2010	300,000	2,000.0	150	JUVENILE	LK SHANNON (SKAG)		
03/2010	05/2010	1,500,000	2,000.0	750	JUVENILE	BAKER LK (WHAT)		
03/2010	05/2010	700,000	2,000.0	350	JUVENILE	BAKER LK (WHAT)		
06/2011	06/2011	40,000	20.0	2,000	JUVENILE	BAKER LK (WHAT)		

Memo: Release numbers at the discretion of Baker Lake Committee.

BALLARD SALMON CLUB

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Receive	30,000	1,200
Integrated/Segregated:	INTEGRATED	Planted	30,000	2,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2010	01/2010	ISSAQUAH HATCHERY	30,000	25.0	1,200 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	30,000	15.0	2,000	JUVENILE	SHILSHOLE BAY N-PENS	AD	

BALLARD SALMON CLUB

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Receive	30,000	1,200
Integrated/Segregated:	INTEGRATED	Planted	30,000	2,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2011	01/2011	ISSAQUAH HATCHERY	30,000	25.0	1,200 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2011	06/2011	30,000	15.0	2,000	JUVENILE	SHILSHOLE BAY N-PENS	AD	

BELLINGHAM HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Species:	RAINBOW		Total #	Total Pounds
Run: Stock: Brood Origin:	NA SPRING CR-GOLDENDALE HATCHERY	Egg Take Shipping Receive		
Integrated/Segregat	ted:	Planted	72,000	32,667
Estimated Brood Egg Take Goal	l Data			

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
09/2009	09/2009	10,000	6.0	1,667	JUVENILE	CASCADE LK (SAN)		
03/2010	05/2010	12,000	2.0	6,000	JUVENILE	SAN JUAN CO LAKES		
03/2010	06/2010	50,000	2.0	25,000	JUVENILE	SKAGIT CO LAKES		

BELLINGHAM HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	RAINBOW		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Receive	40,000	133
Integrated/Segregated		Planted	30,000	11,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	12/2009	12/2009	KENDALL CR HATCHERY	40,000	300.0	133 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
09/2010	09/2010	10,000	6.0	1,667	JUVENILE	CASCADE LK (SAN)		
03/2011	03/2011	6,500	2.0	3,250	JUVENILE	WHATCOM CO LAKES		
03/2011	05/2011	6,500	2.0	3,250	JUVENILE	SAN JUAN CO LAKES		
03/2011	06/2011	7,000	2.0	3,500	JUVENILE	SKAGIT CO LAKES		

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	CHINOOK		Total #	Total Pounds
Run: Stock:	SPRING SKAGIT R 03.0176	Egg Take		
Brood Origin:	HATCHERY	Shipping Receive		
Integrated/Segregated:	SEGREGATED	Planted	40,000	8,000
Estimated Brood Da	ta			
Egg Take Goal				

Estimated Transfer Data

· · · · · · · · · · · · · · · · · · ·

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	40,000	5.0	8,000	JUVENILE	TULALIP BAY	AD	\checkmark

Memo: SP CK PROGRAM SUSPENDED BEGINNING WITH 2000 BROOD. MAY BE REINSTATED IN FUTURE.

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year:	2008		
Species:	СОНО	Total #	Total Pounds
Run: Stock: Brood Origin: Integrated/Segregated:	NA SKYKOMISH R 07.0012 HATCHERY INTEGRATED	Egg Take Shipping Receive Planted 1,000,000) 55,556
Estimated Brood Da Egg Take Goal	ta		

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	200,000	18.0	11,111	JUVENILE	TULALIP BAY	ОТ	
06/2010	06/2010	750,000	18.0	41,667	JUVENILE	TULALIP BAY	ADOT	
06/2010	06/2010	50,000	18.0	2,778	JUVENILE	TULALIP BAY	ADOT	\checkmark

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	HATCHERY	Receive	200,000	
Integrated/Segregated	:	Planted	200,000	3,077
Estimated Brood I	Data			
Egg Take Goal				
Estimated Transfe	r Data			

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	200,000	65.0	3,077	JUVENILE	TULALIP BAY		

Memo: FA CK PROGRAM SUSPENDED BEGINNING WITH 2004 BROOD. MAY BE REINSTATED IN FUTURE.

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run: Stock:	SPRING SKAGIT R 03.0176	Egg Take Shipping		
Brood Origin: Integrated/Segregated:	HATCHERY SEGREGATED	Receive	40,000	8,000
Estimated Brood Da Egg Take Goal	ta			

Estimated Transfer Data

|--|

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	40,000	5.0	8,000	JUVENILE	TULALIP BAY	AD	\checkmark

Memo: SP CK PROGRAM SUSPENDED BEGINNING WITH 2000 BROOD. MAY BE REINSTATED IN FUTURE.

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	SUMMER	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping	2,500	17
Brood Origin:	HATCHERY	Receive	2,400,000	
Integrated/Segregated:	INTEGRATED	Planted	1,700,000	21,250

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2010	07/2010	WSU RESEARCH (PULLMAN)	2,500	150.0	17	JUVENILE
Received	09/2010	09/2010	WALLACE R HATCHERY	2,400,000			EGGS GREEN

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	340,000	80.0	4,250	JUVENILE	TULALIP BAY	ОТ	
05/2010	05/2010	1,260,000	80.0	15,750	JUVENILE	TULALIP BAY	ADOT	
05/2010	05/2010	100,000	80.0	1,250	JUVENILE	TULALIP BAY	ADOT	\checkmark

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHUM		Total #	Total Pounds
Run:	NA	Egg Take	8,800,000	
Stock:	TULALIP BAY	Shipping	2,500	6
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted	8,000,000	17,778

Estimated Brood Data

Egg Take Goal 8,800,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	04/2010	07/2010	WSU RESEARCH (PULLMAN)	2,500	400.0	6 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	8,000,000	450.0	17,778	JUVENILE	TULALIP BAY		

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping	2,500	17
Brood Origin:	HATCHERY	Receive	1,600,000	
Integrated/Segregated:	INTEGRATED	Planted	1,000,000	55,556

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2009	10/2009	WALLACE R HATCHERY	1,600,000			EGGS GREEN
Shipped	04/2010	07/2010	WSU RESEARCH (PULLMAN)	2,500	150.0	17	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2011	06/2011	200,000	18.0	11,111	JUVENILE	TULALIP BAY	ОТ	
06/2011	06/2011	750,000	18.0	41,667	JUVENILE	TULALIP BAY	ADOT	
06/2011	06/2011	50,000	18.0	2,778	JUVENILE	TULALIP BAY	ADOT	\checkmark

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CUTTHROAT		Total #	Total Pounds
Run:	RESIDENT COASTAL	Egg Take		
Stock:	TOKUL CR 07.0440	Shipping		
Brood Origin:	HATCHERY	Receive	2,000	100
Integrated/Segregated	:	Planted	2,000	111

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	12/2009	12/2009	WALLACE R HATCHERY	2,000	20.0	100 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
02/2010	02/2010	2,000	18.0	111	JUVENILE	TRIBAL COOP		

BROOK BAY PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Receive	25,000	
Integrated/Segregated:	INTEGRATED	Planted	25,000	250

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	ISSAQUAH HATCHERY	25,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	25,000	100.0	250	JUVENILE	LK WASHINGTON (KING)		

CARKEEK WATERSHED

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHUM		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	COWLING CR 15.0298	Shipping		
Brood Origin:	HATCHERY	Receive	70,000	100
Integrated/Segregated:		Planted	70,000	175

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2010	02/2010	GROVERS CR HATCHERY	70,000	700.0	100 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	03/2010	70,000	400.0	175	JUVENILE	PIPERS CR 08.0020		

CEDAR RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	SOCKEYE		Total #	Total Pounds
Run:	NA	Egg Take	18,700,000	
Stock:	CEDAR R 08.0299	Shipping		
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	17,000,000	8,500
Estimated Brood Da	ita			
Egg Take Goal 18,700),000			

Estimated Transfer Data

	Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
--	--------------------	------------	----------	----------	--------	-----	-------------------------

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
01/2010	04/2010	17,000,000	2,000.0	8,500	JUVENILE	CEDAR R 08.0299	ОТ	

CITY OF TUKWILA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping		
Brood Origin:	MIXED	Receive	80,000	
Integrated/Segregated:	INTEGRATED	Planted	80,000	53

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2009	01/2010	SOOS CREEK HATCHERY	80,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	03/2010	60,000	1,500.0	40	JUVENILE	RIVERTON CR 09.0003		
03/2010	03/2010	20,000	1,500.0	13	JUVENILE	SOUTHGATE CR 09?		

CRISP CR REARING PON

MUCKLESHOOT TRIBE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping	500,000	25,000
Brood Origin:	HATCHERY	Receive	600,000	7,500
Integrated/Segregated:	INTEGRATED	Planted	300,000	20,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	08/2009	08/2009	SOOS CREEK HATCHERY	600,000	80.0	7,500	JUVENILE
Shipped	03/2010	03/2010	ELLIOTT BAY TRIBAL NP	500,000	20.0	25,000	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	300,000	15.0	20,000	JUVENILE	CRISP CR 09.0113	AD	

CRISP CR REARING PON

MUCKLESHOOT TRIBE

NORTH PUGET SOUND

2009			
СОНО		Total #	Total Pounds
NA	Egg Take	225,000	
BIG SOOS CR 09.0072		500,000	25,000
HATCHERY	Receive	600,000	7,500
INTEGRATED	Planted	300,000	20,000
	COHO NA BIG SOOS CR 09.0072 HATCHERY	COHO NA Egg Take BIG SOOS CR 09.0072 HATCHERY NTECD A TED	COHOTotal #NAEgg Take225,000BIG SOOS CR 09.0072Shipping500,000HATCHERYReceive600,000

Estimated Brood Data

Egg Take Goal 225,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	08/2010	08/2010	SOOS CREEK HATCHERY	600,000	80.0	7,500	JUVENILE
Shipped	03/2011	03/2011	ELLIOTT BAY TRIBAL NP	500,000	20.0	25,000	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	300,000	15.0	20,000	JUVENILE	CRISP CR 09.0113	AD	

DENNY CR PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Receive	5,000	
Integrated/Segregated:	INTEGRATED	Planted	5,000	3

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	ISSAQUAH HATCHERY	5,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	5,000	1,500.0	3	JUVENILE	DENNY CR 08.0228		

ELLIOTT BAY TRIBAL NP

MUCKLESHOOT / SUQUAMISH

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping		
Brood Origin:	HATCHERY	Receive	500,000	25,000
Integrated/Segregated:	INTEGRATED	Planted	395,000	39,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2010	03/2010	CRISP CR REARING PON	500,000	20.0	25,000 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	395,000	10.0	39,500	JUVENILE	ELLIOTT BAY 10A	AD	

ELLIOTT BAY TRIBAL NP

MUCKLESHOOT / SUQUAMISH

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping		
Brood Origin:	HATCHERY	Receive	500,000	25,000
Integrated/Segregated:	INTEGRATED	Planted	395,000	39,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2011	03/2011	CRISP CR REARING PON	500,000	20.0	25,000 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2011	06/2011	395,000	10.0	39,500	JUVENILE	ELLIOTT BAY 10A	AD	

FERNDALE HS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	KENDALL CR 01.0406	Shipping		
Brood Origin:	MIXED	Receive	20,000	
Integrated/Segregated:	INTEGRATED	Planted	20,000	40

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	KENDALL CR HATCHERY	20,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	20,000	500.0	40	JUVENILE	DEER CR 01.0165		

FLAMING GEYSER PD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009		
Species:	STEELHEAD	Total	# Total Pounds
Run:	WINTER	Egg Take	
Stock:	GREEN R ADAPTED (9)	Shipping	
Brood Origin:	HATCHERY	Receive 15,00	0 1,500
Integrated/Segregated:	SEGREGATED	Planted 15,00	0 3,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2010	03/2010	SOOS CREEK HATCHERY	15,000	10.0	1,500 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	15,000	5.0	3,000	JUVENILE	GREEN R TRIB 09.0038	AD	

FLAMING GEYSER PD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2010			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take		
Stock:	GREEN R ADAPTED (9)	Shipping		
Brood Origin:	HATCHERY	Receive	15,000	1,500
Integrated/Segregated:	SEGREGATED	Planted	15,000	3,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2011	03/2011	SOOS CREEK HATCHERY	15,000	10.0	1,500 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	15,000	5.0	3,000	JUVENILE	GREEN R TRIB 09.0038	AD	

GLENWOOD SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run: Stock: Brood Origin: Integrated/Segregated:	NA GLENWOOD SPRINGS HATCHERY SEGREGATED	Egg Take Shipping Receive Planted	100,000	6,667
Estimated Brood Da	ıta			
Egg Take Goal				

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	100,000	15.0	6,667	JUVENILE	EAST SOUND BAY (SAN)	AD	

Memo: Kendall Creek used to make up difference in low years at Glenwood.

GLENWOOD SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Species:CHINOOKTotal #TotalRun:FALLEgg Take590,000FStock:GLENWOOD SPRINGSShipping1,000FBrood Origin:HATCHERYReceiveFF	
Stock:GLENWOOD SPRINGSShipping1,000DLQLQLQLQ	Pounds
Stock: GLENWOOD SPRINGS Shipping 1,000	
Receive Receive	
Integrated/Segregated: SEGREGATED Planted 550,000 6,875	

Estimated Brood Data

Egg Take Goal 590,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2010	01/2010	REG 4 ED COOPS	1,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	550,000	80.0	6,875	JUVENILE	EAST SOUND BAY (SAN)	AD	

Memo: No yearling program. Backfull with Samish in low years.

GLENWOOD SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take		
Stock:	SAMISH (FRIDAY CR)	Shipping		
Brood Origin:	HATCHERY		270,000	
Integrated/Segregated:	SEGREGATED	Planted	,	
Estimated Brood Da	ta			

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2009	11/2009	SAMISH HATCHERY	270,000			EGGS EYED
Estimated Release I	Data						

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
------------	----------	-------------	-----	--------------------	------------	---------------------	-----------	--------

Memo: Project under the Recreational Fishery Enhancement Account under contract with Long Live the Kings.

GLENWOOD SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run: Stock: Brood Origin:	NA GLENWOOD SPRINGS HATCHERY	Egg Take Shipping	140,000	
Integrated/Segregated:	SEGREGATED	Receive Planted	100,000	6,667
Estimated Brood Da Egg Take Goal 140,00				

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	100,000	15.0	6,667	JUVENILE	EAST SOUND BAY (SAN)	AD	

Memo: Kendall Creek used to make up difference in low years at Glenwood.

HALLS LAKE PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Receive	30,000	
Integrated/Segregated:	INTEGRATED	Planted	30,000	20

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	ISSAQUAH HATCHERY	30,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	30,000	1,500.0	20	JUVENILE	HALL LK (SNOH)		

ICY CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping		
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	300,000	30,000
Estimated Brood Da	ta			
Egg Take Goal				

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	200,000	10.0	20,000	JUVENILE	ICY CR 09.0125	AD	
04/2010	04/2010	100,000	10.0	10,000	JUVENILE	ICY CR 09.0125	AD	\checkmark

ICY CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping		
Brood Origin:	MIXED	Receive	320,000	3,200
Integrated/Segregated:	INTEGRATED	Planted	300,000	30,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	04/2010	04/2010	SOOS CREEK HATCHERY	320,000	100.0	3,200 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	200,000	10.0	20,000	JUVENILE	ICY CR 09.0125	AD	
04/2011	04/2011	100,000	10.0	10,000	JUVENILE	ICY CR 09.0125	AD	\checkmark

ICY CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	STEELHEAD		Total #	Total Pounds
Run:	SUMMER	Egg Take		
Stock:	GREEN R ADAPTED (9)	Shipping		
Brood Origin:	HATCHERY	Receive	25,000	2,083
Integrated/Segregated:	SEGREGATED	Planted	20,000	3,636

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	12/2009	12/2009	SOOS CREEK HATCHERY	25,000	12.0	2,083 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	20,000	5.5	3,636	JUVENILE	ICY CR 09.0125	AD	

ICY CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take		
Stock:	GREEN R ADAPTED (9)	Shipping		
Brood Origin:	HATCHERY	Receive	25,000	2,083
Integrated/Segregated:	SEGREGATED	Planted	20,000	3,636

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	12/2009	12/2009	SOOS CREEK HATCHERY	25,000	12.0	2,083 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	20,000	5.5	3,636	JUVENILE	ICY CR 09.0125	AD	

ICY CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	STEELHEAD		Total #	Total Pounds
Run:	SUMMER	Egg Take		
Stock:	GREEN R ADAPTED (9)	Shipping		
Brood Origin:	HATCHERY	Receive	25,000	2,083
Integrated/Segregated:	SEGREGATED	Planted	20,000	3,636

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	12/2010	12/2010	SOOS CREEK HATCHERY	25,000	12.0	2,083 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	20,000	5.5	3,636	JUVENILE	ICY CR 09.0125	AD	

ICY CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take		
Stock:	GREEN R ADAPTED (9)	Shipping		
Brood Origin:	HATCHERY	Receive	25,000	2,083
Integrated/Segregated:	SEGREGATED	Planted	20,000	3,636

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	12/2010	12/2010	SOOS CREEK HATCHERY	25,000	12.0	2,083 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	20,000	5.5	3,636	JUVENILE	ICY CR 09.0125	AD	

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

g Take	Total #	Total Pounds
pping		
ceive		
nted	2,500	8,333

	Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
--	--------------------	------------	----------	----------	--------	-----	-------------------------

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
11/2009	11/2009	2,500	0.3	8,333	JUVENILE	BEAVER LKS (KING) T24		

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping	60,000	2,400
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	450,000	26,471

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2010	01/2010	BALLARD SALMON CLUB	30,000	25.0	1,200	JUVENILE
Shipped	01/2010	01/2010	NWSSC - LAEBUGTEN	30,000	25.0	1,200	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	450,000	17.0	26,471	JUVENILE	ISSAQUAH CR 08.0178	AD	

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Species:						
Speciesi	RAINBOW		Total #	Total Pounds		
Run:	NA	Egg Take				
Stock:	SPRING CR-GOLDENDALE	Shipping				
Brood Origin:	HATCHERY	Receive				
Integrated/Segregated:		Planted	2,500	8,333		
Estimated Brood Data	L					
Egg Take Goal						

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2009	10/2009	2,500	0.3	8,333	JUVENILE	BEAVER LKS (KING) T24		

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take	2,425,000	
Stock:	ISSAQUAH CR 08.0178	Shipping	3,750	
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	2,000,000	25,000

Estimated Brood Data

Egg Take Goal 2,425,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2009	11/2009	REG 4 ED COOPS	3,750			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	06/2010	2,000,000	80.0	25,000	JUVENILE	ISSAQUAH CR 08.0178	AD	

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take	1,200,000	
Stock:	ISSAQUAH CR 08.0178	Shipping	511,700	2,400
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	450,000	26,471
Estimated Brood Da	ta	L		1

Egg Take Goal 1,200,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2010	01/2010	KENT SD	1,000			EGGS EYED
Shipped	01/2010	01/2010	BROOK BAY PROJECT	25,000			EGGS EYED
Shipped	01/2010	01/2010	HALLS LAKE PROJECT	30,000			EGGS EYED
Shipped	01/2010	01/2010	DENNY CR PROJECT	5,000			EGGS EYED
Shipped	01/2010	01/2010	NWSSC - LAEBUGTEN	80,000			EGGS EYED
Shipped	01/2010	01/2010	LIVELY ENV. CTR	20,000			EGGS EYED
Shipped	01/2010	01/2010	JORDAN PROJECT -RSI	5,000			EGGS EYED
Shipped	01/2010	01/2010	MCALEER CR PROJECT	70,000			EGGS EYED
Shipped	01/2010	01/2010	ROGER URBANIAK PROJECT	205,000			EGGS EYED
Shipped	01/2010	01/2010	REG 4 ED COOPS	10,700			EGGS EYED
Shipped	11/2010	11/2010	NWSSC - LAEBUGTEN	30,000	25.0	1,200	JUVENILE
Shipped	01/2011	01/2011	BALLARD SALMON CLUB	30,000	25.0	1,200	JUVENILE

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	450,000	17.0	26,471	JUVENILE	ISSAQUAH CR 08.0178	AD	

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

		Total #	Total Pounds
	Egg Take		
LDENDALE	Shipping		
	Receive	40,000	40
	Planted	32,500	15,833
	LDENDALE	Receive	LDENDALE Egg Take Shipping Receive 40,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2010	02/2010	TOKUL CR HATCHERY	40,000	1,000.0	40	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	10,000	4.0	2,500	JUVENILE	BEAVER LKS (KING) T24		
04/2010	04/2010	20,000	4.0	5,000	JUVENILE	PINE LK (KING)		
10/2010	10/2010	2,500	0.3	8,333	JUVENILE	BEAVER LKS (KING) T24		

JORDAN PROJECT -RSI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Receive	5,000	
Integrated/Segregated:	INTEGRATED	Planted	5,000	3

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	ISSAQUAH HATCHERY	5,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	03/2010	5,000	1,500.0	3	JUVENILE	UNNAMED CR 08.0060		

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2008				
Species:	RAINBOW			Total #	Total Pounds
Run:	NA		Egg Take		
Stock:	SPRING CR-GOLDENDALI	Ξ	Shipping		
Brood Origin:	HATCHERY		Receive		
Integrated/Segregated	l:		Planted	51,000	25,500
Estimated Brood I Egg Take Goal	Data				
Estimated Transfe	er Data				
Shipped or Receive	Start Date End Date	Facility	Number	FPP To	tal Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	03/2010	51,000	2.0	25,500	JUVENILE	WHATCOM CO LAKES		

Memo: Eggs & fish must be maintained on pathogen free water until transfer. Release at 1.5-3 fpp.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	BROWN TROUT		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Receive	18,000	
Integrated/Segregated:		Planted	15,840	264

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2009	12/2009	FORD HATCHERY	18,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2010	10/2010	5,280	60.0	88	JUVENILE	CRANBERRY LK (ISLA)		
10/2010	10/2010	5,280	60.0	88	JUVENILE	PASS LK (SKAG)		
10/2010	10/2010	5,280	60.0	88	JUVENILE	LK FAZON (WHAT)		

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take		
Stock:	SAMISH (FRIDAY CR)	Shipping	6,500,000	
Brood Origin:	HATCHERY	Receive	6,550,000	
Integrated/Segregated:	SEGREGATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Rec	eive St	art Date	End Date	Facil	ity		Number	FPP	Total Pounds	Life Stage
Received	1	1/2009	11/2009	SAM	ISH HATCHERY		6,550,000			EGGS EYED
Shipped	1	1/2010	11/2010	SAM	ISH HATCHERY		6,500,000			EGGS EYED
Estimated R	elease Data									
Start Date	End Date	Num R	elease I	PP	Total Pound	Life Stage	Release Site		Mark Type	Tagged

Memo: Held on isolated pathogen free water. Fish will be differentially otolith marked.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	SPRING	Egg Take	900,000	
Stock:	KENDALL CR 01.0406	Shipping		
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	750,000	8,500
Estimated Brood Da	ta			
Egg Take Goal 900,00	00			

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	150,000	100.0	1,500	JUVENILE	KENDALL CR 01.0406	AD	
05/2010	05/2010	200,000	100.0	2,000	JUVENILE	NOOKSACK -MF 01.0339	ADOT	
05/2010	05/2010	200,000	80.0	2,500	JUVENILE	NOOKSACK R -NF 01.0120	AD	\checkmark
05/2010	05/2010	200,000	80.0	2,500	JUVENILE	NOOKSACK R -NF 01.0120		\checkmark

Memo: Planted in Nooksack watershed at discretion Co-managers. Middle Fork fish must be held on pathogen free H2O. 100% sample.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHUM		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	WHATCOM CR 01.0566	Shipping	2,300,000	
Brood Origin:	HATCHERY	Receive	2,500,000	
Integrated/Segregated:	SEGREGATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2009	01/2010	WHATCOM CR HATCHERY	2,500,000			EGGS GREEN
Shipped	02/2010	02/2010	WHATCOM CR HATCHERY	2,300,000			EGGS EYED
Estimated Release I	Data						

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	---------------------	-----------	--------

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take	150,000	
Stock:	KENDALL CR 01.0406	Shipping	125,250	
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted		
Estimated Brood Da	ta			

Egg Take Goal 150,000

Estimated Transfer Data

Shipped or Re	eceive	Start Date	End Date	Facility		Number	FPP	Total Pounds	Life Stage
Shipped		12/2009	01/2010	NELSON PROJECT		40,000			EGGS EYED
Shipped		12/2009	01/2010	LYNDEN CHRISTIAN		50,000			EGGS EYED
Shipped		12/2009	01/2010	FERNDALE HS		20,000			EGGS EYED
Shipped		12/2009	01/2010	TOAD CREEK PROJE	СТ	15,000			EGGS EYED
Shipped		12/2009	01/2010	REG 4 ED COOPS		250			EGGS EYED
Estimated H	Release Data	a							
Start Date	End Date	Num Re	lease F	'PP Total Pound	Life Stage	Release Site		Mark Type	Tagged

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Species:	CUTTHROAT	Total #	Total Pounds
Run: Stock: Brood Origin: Integrated/Segrega	RESIDENT COASTAL TOKUL CR 07.0440 HATCHERY ted:	Egg Take Shipping Receive Planted 70,000	875
Estimated Brood Egg Take Goal	d Data		

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2009	10/2009	31,500	80.0	394	JUVENILE	WHATCOM CO LAKES		
10/2009	10/2009	19,600	80.0	245	JUVENILE	SKAGIT CO LAKES		
10/2009	10/2009	18,900	80.0	236	JUVENILE	SAN JUAN CO LAKES		

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	PINK		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	WHATCOM CR 01.0566	Shipping	550,000	
Brood Origin:	HATCHERY	Receive	600,000	
Integrated/Segregated:	SEGREGATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Rece	ive St	art Date	End Date	Facil	ity		Number	FPP	Total Pounds	Life Stage
Received	1	1/2009	11/2009	WHA	ATCOM CR HATC	CHERY	600,000			EGGS GREEN
Shipped	1	2/2009	12/2009	WHA	ATCOM CR HATC	CHERY	550,000			EGGS EYED
Estimated Re	lease Data									
Start Date	End Date	Num Re	elease F	PP	Total Pound	Life Stage	Release Site		Mark Type	Tagged

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	RAINBOW		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	56,000	5,467
Brood Origin:	HATCHERY	Receive	160,000	
Integrated/Segregated	l:	Planted	61,000	25,550

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2009	01/2010	GOLDENDALE HATCHERY	160,000			EGGS EYED
Shipped	12/2009	12/2009	BELLINGHAM HATCHERY	40,000	300.0	133	JUVENILE
Shipped	10/2010	10/2010	LK WHATCOM HATCHERY	16,000	3.0	5,333	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	10,000	200.0	50	JUVENILE	PASS LK (SKAG)		
03/2011	03/2011	51,000	2.0	25,500	JUVENILE	WHATCOM CO LAKES		

Memo: Eggs & fish must be maintained on pathogen free water until transfer. Release at 1.5-3 fpp.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

2009			
STEELHEAD		Total #	Total Pounds
WINTER	Egg Take		
KENDALL CR 01.0406		90,000	3,267
HATCHERY	Receive	50,000	10,000
SEGREGATED	Planted	150,000	30,000
	STEELHEAD WINTER KENDALL CR 01.0406 HATCHERY	STEELHEADEgg TakeWINTEREgg TakeKENDALL CR 01.0406ShippingHATCHERYReceive	STEELHEADTotal #WINTEREgg TakeKENDALL CR 01.0406ShippingHATCHERYReceiveSECRECATED50,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2009	10/2009	WHATCOM CR HATCHERY	40,000	25.0	1,600	JUVENILE
Shipped	10/2009	10/2009	MCKINNON PD (WHAT)	50,000	30.0	1,667	JUVENILE
Received	04/2010	04/2010	MCKINNON PD (WHAT)	50,000	5.0	10,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	150,000	5.0	30,000	JUVENILE	KENDALL CR 01.0406	AD	

Memo: Parents must be 100% viral tested. Eggs/Fish must be held on isolated pathogen free water.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take		
Stock:	TOKUL CR 07.0440	Shipping		
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted	90,000	15,000
Estimated Brood D	ata			
Egg Take Goal				
Estimated Transfer	Data			
Shipped or Receive	Start Date End Date Facility	Number FPI	P Total	Pounds Life Stage
Estimated Release I	Note			

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	90,000	6.0	15,000	JUVENILE	KENDALL CR 01.0406	AD	

Memo: In-season Change for BY 2009 only to cover shortage.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	TIGER TROUT		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Receive	10,000	
Integrated/Segregated:		Planted	1,000	16

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2009	11/2009	FORD HATCHERY	10,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2010	10/2010	1,000	62.0	16	JUVENILE	SQUALICUM LK (WHAT)		

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

2010			
CUTTHROAT		Total #	Total Pounds
RESIDENT COASTAL	Egg Take		
TOKUL CR 07.0440			
HATCHERY	Receive	130,000	
	Planted	110,000	975
	CUTTHROAT RESIDENT COASTAL TOKUL CR 07.0440	CUTTHROATEgg TakeRESIDENT COASTALEgg TakeTOKUL CR07.0440HATCHERYReceive	CUTTHROATTotal #RESIDENT COASTALEgg TakeTOKUL CR 07.0440ShippingHATCHERYReceive130,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	EELLS SPRINGS	130,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	18,000	400.0	45	JUVENILE	WHATCOM CO LAKES		
06/2010	06/2010	11,200	400.0	28	JUVENILE	SKAGIT CO LAKES		
06/2010	06/2010	10,800	400.0	27	JUVENILE	SAN JUAN CO LAKES		
10/2010	10/2010	31,500	80.0	394	JUVENILE	WHATCOM CO LAKES		
10/2010	10/2010	19,600	80.0	245	JUVENILE	SKAGIT CO LAKES		
10/2010	10/2010	18,900	80.0	236	JUVENILE	SAN JUAN CO LAKES		

Memo: Eggs & fish must be maintained on pathogen free water.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take	190,000	
Stock:	KENDALL CR 01.0406	Shipping	90,000	3,267
Brood Origin:	HATCHERY	Receive	50,000	10,000
Integrated/Segregated:	SEGREGATED	Planted	150,000	30,000

Estimated Brood Data

Egg Take Goal 190,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2010	10/2010	WHATCOM CR HATCHERY	40,000	25.0	1,600	JUVENILE
Shipped	10/2010	10/2010	MCKINNON PD (WHAT)	50,000	30.0	1,667	JUVENILE
Received	04/2011	04/2011	MCKINNON PD (WHAT)	50,000	5.0	10,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	150,000	5.0	30,000	JUVENILE	KENDALL CR 01.0406	AD	

Memo: Parents must be 100% viral tested. Eggs/Fish must be held on isolated pathogen free water.

KENT SD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Receive	1,000	
Integrated/Segregated:	INTEGRATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Re	ceive	Start Date	End Date	Facility	7		N	umber	FPP	Total Pounds	Life Stage
Received		01/2010	01/2010	ISSAQ	UAH HATCHEF	RY		1,000			EGGS EYED
Estimated H	Estimated Release Data										
Start Date	End Date	Num Re	lease F	PP	Total Pound	Life Stage	Rele	ease Site		Mark Type	Tagged

KETA CREEK HATCHERY

MUCKLESHOOT TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHUM		Total #	Total Pounds
Run:	NA	Egg Take	3,000,000	
Stock:	COWLING CR 15.0298	Shipping		
Brood Origin:	HATCHERY	Receive	2,000,000	
Integrated/Segregated:		Planted	2,850,000	7,125

Estimated Brood Data

Egg Take Goal 3,000,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2009	11/2009	GROVERS CR HATCHERY	2,000,000			EGGS GREEN

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	2,850,000	400.0	7,125	JUVENILE	CRISP CR AT KETA CR		

LIVELY ENV. CTR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Receive	20,000	
Integrated/Segregated:	INTEGRATED	Planted	20,000	100

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	ISSAQUAH HATCHERY	20,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	20,000	200.0	100	JUVENILE	NICKEL CR 08.0077A		

LK WHATCOM HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2008						
Species:	RAINBOW		Total #	Total Pounds			
Run:	NA	Egg Take					
Stock:	SPRING CR-GOLDENDALE	Shipping	Shipping				
Brood Origin:	HATCHERY	Receive	Receive				
Integrated/Segregat	ted:	Planted	14,000	7,000			
Estimated Brood	l Data						
Egg Take Goal							
Estimated Trans	sfer Data						
Shipped or Receive	Start Date End Date Facility	Number	FPP Total	Pounds Life Stage			

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	06/2010	14,000	2.0	7,000	JUVENILE	SKAGIT CO LAKES		

Memo: Fish must be maintained on pathogen free water until transfer. Release at 1 - 2.5 fpp.

LK WHATCOM HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	KOKANEE		Total #	Total Pounds
Run:	NA	Egg Take	15,000,000	
Stock:	LK WHATCOM STOCK	Shipping	9,825,000	
Brood Origin:	HATCHERY	Receive		
Integrated/Segregat	ed:	Planted	4,200,000	1,050
Estimated Brood	Data		1	1

Egg Take Goal 15,000,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2010	01/2010	SPOKANE TRIBAL HATCHERY	1,800,000			EGGS EYED
Shipped	01/2010	01/2010	FORD HATCHERY	1,250,000			EGGS EYED
Shipped	01/2010	01/2010	CHELAN HATCHERY	450,000			EGGS EYED
Shipped	01/2010	01/2010	LAKEWOOD HATCHERY	750,000			EGGS EYED
Shipped	01/2010	01/2010	EELLS SPRINGS	325,000			EGGS EYED
Shipped	01/2010	01/2010	IDAHO -FISH & GAME	5,000,000			EGGS EYED
Shipped	01/2010	01/2010	CALIF- FISH AND WILDLIFE	250,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	06/2010	4,200,000	4,000.0	1,050	JUVENILE	LK WHATCOM (WHAT)		

Memo: Portion of Spokane Tribal/Sherman Cr program may be BC stock. 300,000 Triploided. Back fill for Naches Hatchery and Moran State Park.

LK WHATCOM HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 200)09			
Species: RA	AINBOW		Total #	Total Pounds
Run: NA	A	Egg Take		
Stock: SP	PRING CR-GOLDENDALE	Shipping		
Brood Origin: HA	ATCHERY	Receive	16,000	5,333
Integrated/Segregated:		Planted	14,000	7,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2010	10/2010	KENDALL CR HATCHERY	16,000	3.0	5,333 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2011	06/2011	14,000	2.0	7,000	JUVENILE	SKAGIT CO LAKES		

Memo: Fish must be maintained on pathogen free water until transfer. Release at 1 - 2.5 fpp.

LUMMI SEA PONDS

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	LUMMI BAY (SEA POND)	Shipping		
Brood Origin:	HATCHERY	Receive	1,000,000	25,000
Integrated/Segregated:	SEGREGATED	Planted	1,000,000	66,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	04/2010	04/2010	SKOOKUM CR HATCHERY	1,000,000	40.0	25,000 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	950,000	15.0	63,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	
06/2010	06/2010	50,000	15.0	3,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	\checkmark

LUMMI SEA PONDS

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take		
Stock:	SAMISH (FRIDAY CR)	Shipping		
Brood Origin:	HATCHERY	Receive	1,000,000	5,000
Integrated/Segregated:	SEGREGATED	Planted	1,000,000	10,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2010	04/2010	SAMISH HATCHERY	1,000,000	200.0	5,000 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	500,000	100.0	5,000	JUVENILE	NOOKSACK R+LUMMI BAY	AD	
05/2010	05/2010	500,000	100.0	5,000	JUVENILE	LUMMI HATCHERY -POND	AD	

LUMMI SEA PONDS

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take	1,400,000	
Stock:	LUMMI BAY (SEA POND)	Shipping	1,200,000	
Brood Origin:	HATCHERY	Receive	1,000,000	25,000
Integrated/Segregated:	SEGREGATED	Planted	1,000,000	66,667

Estimated Brood Data

Egg Take Goal 1,400,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2009	12/2009	SKOOKUM CR HATCHERY	1,200,000			EGGS EYED
Received	04/2011	04/2011	SKOOKUM CR HATCHERY	1,000,000	40.0	25,000	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2011	06/2011	950,000	15.0	63,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	
06/2011	06/2011	50,000	15.0	3,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	\checkmark

LYNDEN CHRISTIAN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	KENDALL CR 01.0406	Shipping		
Brood Origin:	MIXED	Receive	50,000	
Integrated/Segregated:	INTEGRATED	Planted	50,000	100

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2009	01/2010	KENDALL CR HATCHERY	50,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	50,000	500.0	100	JUVENILE	FISHTRAP CR 01.0210		

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	CHINOOK		Total #	Total Pounds
Run:	SPRING	Egg Take		
Stock:	SKAGIT R 03.0176	Shipping		
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted	150,000	15,000
Estimated Brood Da	ta			
Egg Take Goal				

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010 04/2010	04/2010 04/2010	75,000 75,000	10.0 10.0	7,500 7,500	JUVENILE JUVENILE	CLARK CR 03.1421 CLARK CR 03.1421	AD	

Memo: TULALIP SP CK PROGRAM SUSPENDED BEGINNING WITH 2000 BROOD, WILL BE REINSTATED IN FUTURE. Eggs must be 100% sampled and

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKAGIT R 03.0176	Shipping	30,000	1,200
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	350,000	18,706

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	02/2010	02/2010	OAK HARBOR NET PENS	30,000	25.0	1,200 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
02/2010	02/2010	100,000	25.0	4,000	JUVENILE	TELEGRAPH SLOUGH 03.0117	AD	
05/2010	05/2010	160,000	17.0	9,412	JUVENILE	CLARK CR 03.1421	AD	
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	CLARK CR 03.1421	AD	\checkmark
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	CLARK CR 03.1421		\checkmark

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take	280,000	
Stock:	SKAGIT R 03.0176	Shipping		
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	222,000	1,480
Estimated Brood Da	ta			
Egg Take Goal 280,00	0			

Estimated Transfer Data

|--|

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	222,000	150.0	1,480	JUVENILE	BAKER R 03.0435	AD	\checkmark

Memo: Adults brought to Marblemount by Skagit System Coop.

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	SPRING	Egg Take	590,000	
Stock:	SKAGIT R 03.0176	Shipping		
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted	400,000	18,571
Estimated Brood Da	ta			
Egg Take Goal 590,00	0			

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	250,000	70.0	3,571	JUVENILE	CLARK CR 03.1421	AD	
04/2011	04/2011	75,000	10.0	7,500	JUVENILE	CLARK CR 03.1421	AD	
04/2011	04/2011	75,000	10.0	7,500	JUVENILE	CLARK CR 03.1421		\checkmark

Memo: TULALIP SP CK PROGRAM SUSPENDED BEGINNING WITH 2000 BROOD, WILL BE REINSTATED IN FUTURE. Eggs must be 100% sampled and

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009		
Species:	CHINOOK	Tota	1# Total Pounds
Run: Stock:	SUMMER SKAGIT R 03.0176	Egg Take 275,0 Shipping	000
Brood Origin:	MIXED	Receive	
Integrated/Segregated:	INTEGRATED	Planted 200,0	2,667
Estimated Brood Da	ta		
Egg Take Goal 275,00	0		

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	200,000	75.0	2,667	JUVENILE	COUNTY LINE CR3.2363	AD	\checkmark

Memo: Adults will be broodstocked from mainstem and brought to the hatchery by Fish Management personnel. No releases from Marblemount Hatchery.

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take	650,000	
Stock:	SKAGIT R 03.0176	Shipping	32,750	1,200
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	350,000	18,706

Estimated Brood Data

Egg Take Goal 650,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2010	02/2010	REG 4 ED COOPS	2,750			EGGS EYED
Shipped	02/2011	02/2011	OAK HARBOR NET PENS	30,000	25.0	1,200	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
02/2011	02/2011	100,000	25.0	4,000	JUVENILE	TELEGRAPH SLOUGH 03.0117	AD	
05/2011	05/2011	160,000	17.0	9,412	JUVENILE	CLARK CR 03.1421	AD	
05/2011	05/2011	45,000	17.0	2,647	JUVENILE	CLARK CR 03.1421	AD	\checkmark
05/2011	05/2011	45,000	17.0	2,647	JUVENILE	CLARK CR 03.1421		\checkmark

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

2009			
СОНО		Total #	Total Pounds
NA	Egg Take		
SKYKOMISH R 07.0012		1,650,000	
MIXED	Receive	1,700,000	
INTEGRATED	Planted		
ta	Thanted		
	COHO NA SKYKOMISH R 07.0012 MIXED	COHOEgg TakeNAEgg TakeSKYKOMISH R 07.0012ShippingMIXEDReceiveINTEGRATEDPlanted	COHOTotal #NAEgg TakeSKYKOMISH R 07.0012ShippingMIXEDReceiveINTEGRATEDPlanted

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2009	10/2009	WALLACE R HATCHERY	1,700,000			EGGS GREEN
Shipped	01/2010	01/2010	SKOOKUMCHUCK HATCHRY	1,650,000			EGGS EYED
Estimated Release I	Data						

Start Date End Date Num Release FPP Total Pound Life	Stage Release Site Mark Type Tagged
--	-------------------------------------

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	RAINBOW		Total #	Total Pounds
Run:	NA	Egg Take	250,000	
Stock:	ROSS LK STOCK	Shipping		
Brood Origin:	HATCHERY	Receive		
Integrated/Segregate	ed:	Planted	230,000	1,038
Estimated Brood Egg Take Goal 25	Data 50,000			

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
09/2009	09/2009	30,000	800.0	38	JUVENILE	SKAGIT CO LAKES		
06/2010	06/2010	50,000	200.0	250	JUVENILE	GORGE LK (WHAT)		
06/2010	06/2010	150,000	200.0	750	JUVENILE	DIABLO LK (WHAT)		

Memo: 150,000 planted above Seattle City Light Skagit hydro-electic projects. 50,000 planted high lakes within Skagit drainage.

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

	2009		
Species:	STEELHEAD	Total #	Total Pounds
Run: Stock:	WINTER SKAGIT R 03.0176	Egg Take Shipping	
Brood Origin:	HATCHERY	Receive	
Integrated/Segregated:	SEGREGATED	Planted 229,000	45,800
Estimated Brood Da Egg Take Goal	ata		
Estimated Brood Da Egg Take Goal Estimated Transfer			

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	229,000	5.0	45,800	JUVENILE	CLARK CR 03.1421	AD	

Memo: Exact planting allotments at the discretion of Fish Management and are coordinated with Wildlife Management to minimize eagle interactions. Skagit River pr

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	STEELHEAD		Total #	Total Pounds
Run: Stock: Brood Origin: Integrated/Segregated:	WINTER SKAGIT R 03.0176 HATCHERY SEGREGATED	Egg Take Shipping Receive	250,000	45 800
Estimated Brood Da Egg Take Goal 250,00	ta	Planted	229,000	45,800

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	229,000	5.0	45,800	JUVENILE	CLARK CR 03.1421	AD	

Memo: Exact planting allotments at the discretion of Fish Management and are coordinated with Wildlife Management to minimize eagle interactions. Skagit River pr

MARINE TECH CENTR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	WASHINGTON - GENERAL	Shipping		
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	10,000	909
Estimated Brood Da	ita			
Egg Take Goal				

Estimated Transfer Data

|--|

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	10,000	11.0	909	JUVENILE	DES MOINES C 09.0377	AD	

MARINE TECH CENTR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping		
Brood Origin:	MIXED	Receive	5,000	
Integrated/Segregated:	INTEGRATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Ro	eceive S	tart Date	End Date	Facility				Number	FPP	Total Pounds	Life Stage
Received	-	12/2009	01/2010	SOOS (CREEK HATCH	ERY		5,000			EGGS EYED
Estimated I	Release Data										
Start Date	End Date	Num Re	elease F	PP	Total Pound	Life Stage	F	Release Site		Mark Type	Tagged

MARINE TECH CENTR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take	30,000	
Stock:	WASHINGTON - GENERAL	Shipping		
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	25,000	939
Estimated Brood Da	ita			
Egg Take Goal 30,000)			

Shipped or Receive Start Date End Date Facility	Number	FPP	Total Pounds	Life Stage
---	--------	-----	---------------------	------------

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	15,000	500.0	30	JUVENILE	DES MOINES C 09.0377	AD	
05/2011	05/2011	10,000	11.0	909	JUVENILE	DES MOINES C 09.0377	AD	

MCALEER CR PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Receive	70,000	
Integrated/Segregated:	INTEGRATED	Planted	70,000	47

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	ISSAQUAH HATCHERY	70,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	03/2010	70,000	1,500.0	47	JUVENILE	MCALEER CR 08.0049		

MCKINNON PD (WHAT)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

2009			
STEELHEAD		Total #	Total Pounds
WINTER	Egg Take		
KENDALL CR 01.0406	Shipping	50,000	10,000
HATCHERY	Receive	50,000	1,667
SEGREGATED	Planted		
	STEELHEAD WINTER KENDALL CR 01.0406 HATCHERY	STEELHEADEgg TakeWINTEREgg TakeKENDALL CR 01.0406ShippingHATCHERYReceive	STEELHEADTotal #WINTEREgg TakeKENDALL CR 01.0406ShippingHATCHERYSeceiveSECRECATED50,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Rec	eive St	art Date	End Date	Facil	ity		Number	FPP	Total Pounds	Life Stage
Received	1	0/2009	10/2009	KEN	DALL CR HATCI	HERY	50,000	30.0	1,667	JUVENILE
Shipped	0	4/2010	04/2010	KEN	DALL CR HATCI	HERY	50,000	5.0	10,000	JUVENILE
Estimated R	elease Data									
Start Date	End Date	Num R	elease F	PP	Total Pound	Life Stage	Release Site		Mark Type	Tagged

MCKINNON PD (WHAT)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

2010			
STEELHEAD		Total #	Total Pounds
WINTER	Egg Take		
KENDALL CR 01.0406	Shipping	50,000	10,000
HATCHERY	Receive	50,000	1,667
SEGREGATED	Planted		
	STEELHEAD WINTER KENDALL CR 01.0406 HATCHERY	STEELHEADEgg TakeWINTEREgg TakeKENDALL CR 01.0406ShippingHATCHERYReceive	STEELHEADTotal #WINTEREgg TakeKENDALL CR 01.0406ShippingHATCHERYS0,000Receive50,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Re	eceive S	tart Date	End Date	Facilit	y			Number	FPP	Total Pounds	Life Stage
Received		0/2010	10/2010	KEND	ALL CR HATCH	IERY		50,000	30.0	1,667	JUVENILE
Shipped	(04/2011	04/2011	KEND	ALL CR HATCH	IERY		50,000	5.0	10,000	JUVENILE
Estimated l	Release Data										
Start Date	End Date	Num Re	elease F	PP	Total Pound	Life Stage	Re	elease Site		Mark Type	Tagged

MORAN STATE PK PROJ

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	KOKANEE		Total #	Total Pounds
Run:	NA	Egg Take	120,000	
Stock:	CASCADE LK (SAN)	Shipping		
Brood Origin:	WILD	Receive		
Integrated/Segregation	ted:	Planted	100,000	67
Estimated Brood Egg Take Goal 1	d Data 20,000			

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	80,000	1,500.0	53	JUVENILE	CASCADE LK (SAN)		
06/2010	06/2010	20,000	1,500.0	13	JUVENILE	MOUNTAIN LK (SAN)		

Memo: Cooperation with Washington State Parks. Backfill from Lk Whatcom if needed.

NELSON PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	KENDALL CR 01.0406	Shipping		
Brood Origin:	MIXED	Receive	40,000	
Integrated/Segregated:	INTEGRATED	Planted	40,000	27

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2009	01/2010	KENDALL CR HATCHERY	40,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	40,000	1,500.0	27	JUVENILE	DEER CR 01.0165		

Memo: RSI projects on Deer & Silver Creeks (Nooksack basin).

NWSSC - DES MOINES

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping		
Brood Origin:	MIXED	Receive	30,000	1,200
Integrated/Segregated:	INTEGRATED	Planted	30,000	2,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2010	02/2010	SOOS CREEK HATCHERY	30,000	25.0	1,200 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	30,000	15.0	2,000	JUVENILE	DES MOINES NET PENS	AD	

NWSSC - DES MOINES

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping		
Brood Origin:	MIXED	Receive	150,000	1,200
Integrated/Segregated:	INTEGRATED	Planted	150,000	2,080

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2009	01/2010	SOOS CREEK HATCHERY	120,000			EGGS EYED
Received	02/2011	02/2011	SOOS CREEK HATCHERY	30,000	25.0	1,200	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	54,000	1,500.0	36	JUVENILE	DES MOINES C 09.0377		
04/2010	04/2010	33,000	1,500.0	22	JUVENILE	MILLER CR 09.0371	AD	
04/2010	04/2010	33,000	1,500.0	22	JUVENILE	MILLER CR 09.0371		
06/2011	06/2011	30,000	15.0	2,000	JUVENILE	DES MOINES NET PENS	AD	

NWSSC - LAEBUGTEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Receive	30,000	1,200
Integrated/Segregated:	INTEGRATED	Planted	25,000	2,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2010	01/2010	ISSAQUAH HATCHERY	30,000	25.0	1,200 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	25,000	10.0	2,500	JUVENILE	EDMONDS NET PENS	AD	

NWSSC - LAEBUGTEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Receive	110,000	1,200
Integrated/Segregated:	INTEGRATED	Planted	105,000	2,660

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	ISSAQUAH HATCHERY	80,000			EGGS EYED
Received	11/2010	11/2010	ISSAQUAH HATCHERY	30,000	25.0	1,200	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	65,000	500.0	130	JUVENILE	NORTH CR 08.0070		
04/2010	04/2010	15,000	500.0	30	JUVENILE	SWAMP CR 08.0059		
05/2011	05/2011	25,000	10.0	2,500	JUVENILE	EDMONDS NET PENS	AD	

NWSSC-EVERETT N PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	MIXED	Receive	20,000	800
Integrated/Segregated:	INTEGRATED	Planted	20,000	1,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2010	01/2010	WALLACE R HATCHERY	20,000	25.0	800 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	20,000	15.0	1,333	JUVENILE	MUKILTEO NET PENS	AD	

NWSSC-EVERETT N PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	MIXED	Receive	20,000	800
Integrated/Segregated:	INTEGRATED	Planted	20,000	1,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2011	01/2011	WALLACE R HATCHERY	20,000	25.0	800 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2011	06/2011	20,000	15.0	1,333	JUVENILE	MUKILTEO NET PENS	AD	

OAK HARBOR NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKAGIT R 03.0176	Shipping		
Brood Origin:	MIXED	Receive	30,000	1,200
Integrated/Segregated:	INTEGRATED	Planted	30,000	2,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2010	02/2010	MARBLEMOUNT HATCHERY	30,000	25.0	1,200 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	30,000	12.0	2,500	JUVENILE	OAK HARBOR NET PENS	AD	

OAK HARBOR NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKAGIT R 03.0176	Shipping		
Brood Origin:	MIXED	Receive	30,000	1,200
Integrated/Segregated:	INTEGRATED	Planted	30,000	2,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2011	02/2011	MARBLEMOUNT HATCHERY	30,000	25.0	1,200 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2011	06/2011	30,000	12.0	2,500	JUVENILE	OAK HARBOR NET PENS	AD	

PORTAGE BAY HATCHERY

SCHOOL OF FISHERIES, UNIVERSITY OF WASHINGTON

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take	650,000	
Stock:	PORTAGE BAY STOCK UW	Shipping		
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted	180,000	8,182
Estimated Brood Da	ıta			
Egg Take Goal 650,00	00			

Estimated Transfer Data

|--|

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	180,000	22.0	8,182	JUVENILE	PORTAGE BAY/SHIP CNL	AD	

Memo: Anticipated maximum eggtake - fluctuates with research needs.

PORTAGE BAY HATCHERY

SCHOOL OF FISHERIES, UNIVERSITY OF WASHINGTON

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take	200,000	
Stock:	PORTAGE BAY STOCK UW	Shipping		
Brood Origin:	HATCHERY	Receive		
Integrated/Segrega	ted:	Planted	90,000	3,000
Estimated Brood	d Data			
Egg Take Goal 2	200,000			

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	90,000	30.0	3,000	JUVENILE	PORTAGE BAY/SHIP CNL	AD	

Memo: Anticipated maximum eggtake - fluctuates with research needs.

POSSESSION NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	MIXED	Receive	50,000	2,000
Integrated/Segregated:	INTEGRATED	Planted	50,000	3,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2010	01/2010	WALLACE R HATCHERY	50,000	25.0	2,000 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	50,000	15.0	3,333	JUVENILE	POSSESSION NET PENS	AD	

POSSESSION NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	MIXED	Receive	50,000	2,000
Integrated/Segregated:	INTEGRATED	Planted	50,000	3,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2011	01/2011	WALLACE R HATCHERY	50,000	25.0	2,000 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	50,000	15.0	3,333	JUVENILE	POSSESSION NET PENS	AD	

RED CR HATCHERY

SKAGIT TRIBE

NORTH PUGET SOUND

Brood Year:	2009	
Species:	CHUM	Total # Total Pounds
Run:	NA	Egg Take 500,000
Stock:	SKAGIT R 03.0176	Shipping
Brood Origin:	HATCHERY	Receive
Integrated/Segregat	ted:	Planted 450,000 1,000
Estimated Brood Egg Take Goal 50	1 Data 00,000	
Estimated Trans	sfer Data	
	Start Date End Date Facility	Number FPP Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	450,000	450.0	1,000	JUVENILE	SKAGIT R 03.0176		

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009		
Species:	CHINOOK	Total	# Total Pounds
Run:	FALL	Egg Take	
Stock:	GLENWOOD SPRINGS	Shipping	
Brood Origin:	HATCHERY	Receive 1,000	
Integrated/Segregated:	SEGREGATED	Planted	

Estimated Brood Data

Egg Take Goal

Shipped or R	eceive	Start Date	End Date	Facility	y		Ν	lumber	FPP	Total Pounds	Life Stage
Received		01/2010	01/2010	GLENV	WOOD SPRINGS	5		1,000			EGGS EYED
Estimated 1	Release Data	L									
Start Date	End Date	Num Re	elease F	PP	Total Pound	Life Stage	Rel	lease Site		Mark Type	e Tagged

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009		
Species:	CHINOOK	Total #	Total Pounds
Run:	FALL	Egg Take	
Stock:	SAMISH (FRIDAY CR)	Shipping	
Brood Origin:	HATCHERY	Receive 500	
Integrated/Segregated:	SEGREGATED	Planted	
Estimated Brood Da		Planted	

Estimated Brood Data

Egg Take Goal

Shipped or Re	eceive	Start Date	End Date	Facili	ty		Number	FPP	Total Pounds	Life Stage
Received		11/2009	11/2009	SAMI	SH HATCHERY		500			EGGS EYED
Estimated 1	Release Data									
Start Date	End Date	Num Re	elease F	PP	Total Pound	Life Stage	Release Site		Mark Type	Tagged

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping		
Brood Origin:	MIXED	Receive	2,000	
Integrated/Segregated:	INTEGRATED	Planted		
Estimated Brood Da	ta	I	l	

Egg Take Goal

Shipped or Rec	eive St	art Date	End Date	Facilit	у			Number	FPP	Total Pounds	Life Stage
Received	1	1/2009	11/2009	SOOS	CREEK HATCH	ERY		2,000			EGGS EYED
Estimated R	elease Data										
Start Date	End Date	Num Re	elease F	'PP	Total Pound	Life Stage]	Release Site		Mark Type	Tagged

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Receive	3,750	
Integrated/Segregated:	INTEGRATED	Planted		
Estimated Brood Da	ta		1	I

Egg Take Goal

Estimated Transfer Data

Shipped or R	eceive	Start Date	End Date	Facility	7			Number	FPP	Total Pounds	Life Stage
Received		11/2009	11/2009	ISSAQ	ИАН НАТСНЕН	RY		3,750			EGGS EYED
Estimated 1	Release Data										
Start Date	End Date	Num R	elease F	PP	Total Pound	Life Stage	R	elease Site		Mark Type	e Tagged

Memo: To approved list of SIC projects. Schools should be provided with instructions and iodophores for disinfecting green eggs.

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHUM		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	COWLING CR 15.0298	Shipping		
Brood Origin:	HATCHERY	Receive	20,000	
Integrated/Segregated:		Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	GROVERS CR HATCHERY	20,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
------------	----------	-------------	-----	--------------------	------------	---------------------	-----------	--------

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHUM		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	HATCHERY	Receive	750	
Integrated/Segregate	d:	Planted		
Estimated Brood	Data		'	

Egg Take Goal

Shipped or R	eceive	Start Date	End Date	Facili	ity		Nun	ıber	FPP	Total Pounds	Life Stage
Received		01/2010	01/2010	MINT	TER HATCHERY			750			EGGS GREEN
Estimated l	Release Data										
Start Date	End Date	Num Re	elease F	'PP	Total Pound	Life Stage	Releas	e Site		Mark Type	Tagged

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009		
Species:	СОНО	Total #	Total Pounds
Run:	NA	Egg Take	
Stock:	BIG SOOS CR 09.0072	Shipping	
Brood Origin:	MIXED	Receive 16,000	
Integrated/Segregated:	INTEGRATED	Planted	

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2009	01/2010	SOOS CREEK HATCHERY	16,000			EGGS EYED
Estimated Release I	Data						

Estimated Release Data

Start Date End Date Num Release FPP Total Pound Life Stage Release Site Mark Type Tag	Start Date	te Num Release	FPP		Life Stage	Release Site	Mark Type	Tagged
---	------------	----------------	-----	--	------------	--------------	-----------	--------

Kent School District, Endeavour IS, Chief Sealth HS, SIC Programs. Memo:

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Receive	10,700	
Integrated/Segregated:	INTEGRATED	Planted		
Estimated Brood Da	ta			· ·

Egg Take Goal

Estimated Transfer Data

Shipped or Rec	eive St	tart Date	End Date	Facili	ty		Num	ber	FPP	Total Pounds	Life Stage
Received	0	1/2010	01/2010	ISSA	QUAH HATCHEI	RY	10,7	00			EGGS EYED
Estimated R	elease Data										
Start Date	End Date	Num Re	elease F	'PP	Total Pound	Life Stage	Release	Site		Mark Type	e Tagged

Memo: For Seattle Schools, Duvall Christian, Holy Rosary, SIC Programs

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	KENDALL CR 01.0406	Shipping		
Brood Origin:	MIXED	Receive	250	
Integrated/Segregated:	INTEGRATED	Planted		

Egg Take Goal

Shipped or Re	eceive	Start Date	End Date	Facility	y		Numb	er	FPP	Total Pounds	Life Stage
Received		12/2009	01/2010	KEND	ALL CR HATCH	IERY	2	50			EGGS EYED
Estimated H	Release Data	L									
Start Date	End Date	Num Re	elease F	PP	Total Pound	Life Stage	Release	Site		Mark Type	Tagged

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKAGIT R 03.0176	Shipping		
Brood Origin:	MIXED	Receive	2,750	
Integrated/Segregated:	INTEGRATED	Planted	250	

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2010	02/2010	MARBLEMOUNT HATCHERY	2,750			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	250			JUVENILE	LK CAMPBELL (SKAG)		

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	MIXED	Receive	12,000	1
Integrated/Segregated:	INTEGRATED	Planted	5,000	10

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2009	11/2009	WALLACE R HATCHERY	11,000			EGGS EYED
Received	04/2010	04/2010	WALLACE R HATCHERY	1,000	1,000.0	1	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	5,000	500.0	10	JUVENILE	PIGEON #1 07.1722		

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	VOIGHT CR 10.0414	Shipping		
Brood Origin:	MIXED	Receive	250	
Integrated/Segregated:	INTEGRATED	Planted		

Egg Take Goal

Shipped or Ro	eceive	Start Date	End Date	Facility	y		Number	FPP	Total Pounds	Life Stage
Received		02/2010	02/2010	VOIGH	HTS CR HATCH	ERY	250			EGGS EYED
Estimated I	Release Data	L								
Start Date	End Date	Num Re	elease F	PP	Total Pound	Life Stage	Release Site		Mark Type	Tagged

REITER PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	STEELHEAD		Total #	Total Pounds
Run:	SUMMER	Egg Take		
Stock:	SKYKOMISH R -SF (07)	Shipping		
Brood Origin:	HATCHERY	Receive	230,000	9,200
Integrated/Segregated:	SEGREGATED	Planted	190,000	31,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2009	10/2009	WALLACE R HATCHERY	230,000	25.0	9,200 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	190,000	6.0	31,667	JUVENILE	SKYKOMISH R 07.0012	AD	

REITER PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

2009			
STEELHEAD		Total #	Total Pounds
WINTER	Egg Take		
TOKUL CR 07.0440			
HATCHERY	Receive	195,000	7,800
SEGREGATED	Planted	160,000	26,667
	STEELHEAD WINTER TOKUL CR 07.0440 HATCHERY	STEELHEADEgg TakeWINTEREgg TakeTOKUL CR 07.0440ShippingHATCHERYReceive	STEELHEADTotal #WINTEREgg TakeTOKUL CR 07.0440ShippingHATCHERYReceiveSECRECATED195,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2009	10/2009	WALLACE R HATCHERY	195,000	25.0	7,800 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	15,000	6.0	2,500	JUVENILE	WALLACE R 07.0940	AD	
05/2010	05/2010	145,000	6.0	24,167	JUVENILE	SKYKOMISH R 07.0012	AD	

REITER PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010				
Species:	STEELHEAD			Total #	Total Pounds
Run:	SUMMER	E	lgg Take	250,000	
Stock:	SKYKOMISH R -SF (07)		hipping	250,000	
Brood Origin:	HATCHERY		Receive	230,000	9,200
Integrated/Segregated:	SEGREGATED	P	lanted	190,000	31,667
				1	I

Estimated Brood Data

Egg Take Goal 250,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2010	03/2010	WALLACE R HATCHERY	250,000			EGGS EYED
Received	10/2010	10/2010	WALLACE R HATCHERY	230,000	25.0	9,200	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	190,000	6.0	31,667	JUVENILE	SKYKOMISH R 07.0012	AD	

REITER PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take		
Stock:	TOKUL CR 07.0440	Shipping		
Brood Origin:	HATCHERY	Receive	195,000	7,800
Integrated/Segregated:	SEGREGATED	Planted	160,000	26,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2010	10/2010	WALLACE R HATCHERY	195,000	25.0	7,800 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	15,000	6.0	2,500	JUVENILE	WALLACE R 07.0940	AD	
05/2011	05/2011	145,000	6.0	24,167	JUVENILE	SKYKOMISH R 07.0012	AD	

RFEG 1 NOOKSK/SAMISH

NOOKSACK/SAMISH REGIONAL ENHANCEMENT GROUP

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHUM		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	WHATCOM CR 01.0566	Shipping		
Brood Origin:	HATCHERY	Receive	100,000	
Integrated/Segregated:	SEGREGATED	Planted	100,000	67

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2009	01/2010	WHATCOM CR HATCHERY	100,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
02/2010	02/2010	100,000	1,500.0	67	JUVENILE	TERRELL CR 01.0089		

ROGER URBANIAK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	WILD	Receive	205,000	
Integrated/Segregated:	INTEGRATED	Planted	205,000	137

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	ISSAQUAH HATCHERY	205,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	03/2010	10,000	1,500.0	7	JUVENILE	UNNAMED CR 08.0275		
03/2010	03/2010	5,000	1,500.0	3	JUVENILE	VALLEY CR 08.0270		
03/2010	03/2010	30,000	1,500.0	20	JUVENILE	KELSEY CR08.0259-R02		
03/2010	03/2010	80,000	1,500.0	53	JUVENILE	JUANITA CR 08.0230		
03/2010	03/2010	80,000	1,500.0	53	JUVENILE	LK WASHINGTON (KING)		

Memo: This project is part of the former 10 million salmon and Medina RSI. 10,000 to Medina, 80,000 to Cozy Cove.

SAMISH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take	6,500,000	
Stock:	SAMISH (FRIDAY CR)	Shipping	7,770,500	5,000
Brood Origin:	HATCHERY	Receive	6,500,000	
Integrated/Segregated:	SEGREGATED	Planted	4,000,000	50,000

Estimated Brood Data

Egg Take Goal 6,500,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2009	11/2009	GLENWOOD SPRINGS	270,000			EGGS EYED
Received	11/2009	11/2009	KENDALL CR HATCHERY	6,500,000			EGGS EYED
Shipped	11/2009	11/2009	KENDALL CR HATCHERY	6,500,000			EGGS EYED
Shipped	11/2009	11/2009	REG 4 ED COOPS	500			EGGS EYED
Shipped	03/2010	04/2010	LUMMI SEA PONDS	1,000,000	200.0	5,000	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	3,600,000	80.0	45,000	JUVENILE	SAMISH R 03.0005	AD	
05/2010	05/2010	200,000	80.0	2,500	JUVENILE	SAMISH R 03.0005	AD	\checkmark
05/2010	05/2010	200,000	80.0	2,500	JUVENILE	SAMISH R 03.0005		\checkmark

SEATTLE AQUARIUM

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping		
Brood Origin:	MIXED	Receive	1,000	40
Integrated/Segregated:	INTEGRATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2010	02/2010	SOOS CREEK HATCHERY	1,000	25.0	40	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
------------	----------	-------------	-----	--------------------	------------	---------------------	-----------	--------

SEATTLE AQUARIUM

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping		
Brood Origin:	MIXED	Receive	500	1
Integrated/Segregated:	INTEGRATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2010	02/2010	SOOS CREEK HATCHERY	500	500.0	1	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
------------	----------	-------------	-----	--------------------	------------	---------------------	-----------	--------

SEATTLE AQUARIUM

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping		
Brood Origin:	MIXED	Receive	1,000	40
Integrated/Segregated:	INTEGRATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2011	02/2011	SOOS CREEK HATCHERY	1,000	25.0	40 JUVENILE

Start Date End Date Mulli Kelease 111 Totari Junu Ene Stage Kelease Site Mark Type Tagged	Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
---	------------	----------	-------------	-----	--------------------	------------	---------------------	-----------	--------

SEATTLE POGGIE CLUB

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2008		
Species:	СОНО	Total #	Total Pounds
Run: Stock: Brood Origin: Integrated/Segregated:	NA SKYKOMISH R 07.0012 MIXED INTEGRATED	Egg Take Shipping Receive Planted 54,000	3,600
Estimated Brood Da Egg Take Goal	ita		

Estimated Transfer Data

|--|

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	54,000	15.0	3,600	JUVENILE	EAGLE CR 07.1416	AD	

SEATTLE POGGIE CLUB

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	MIXED	Receive	60,000	
Integrated/Segregated:	INTEGRATED	Planted	54,000	3,600

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2009	11/2009	WALLACE R HATCHERY	60,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	54,000	15.0	3,600	JUVENILE	EAGLE CR 07.1416	AD	

SKOOKUM CR HATCHERY

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	LUMMI BAY (SEA POND)	Shipping	1,000,000	25,000
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2010	04/2010	LUMMI SEA PONDS	1,000,000	40.0	25,000	JUVENILE

Start Date End Date Mulli Kelease 111 Totari Junu Ene Stage Kelease Site Mark Type Tagged	Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
---	------------	----------	-------------	-----	--------------------	------------	---------------------	-----------	--------

SKOOKUM CR HATCHERY

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKOOKUM CR 01.0273	Shipping		
Brood Origin:	HATCHERY	Receive		
Integrated/Segregat	ted:	Planted	1,000,000	66,667
Estimated Brood	l Data			
Egg Take Goal				

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	06/2010	950,000	15.0	63,333	JUVENILE	SKOOKUM CR 01.0273	AD	
05/2010	06/2010	50,000	15.0	3,333	JUVENILE	SKOOKUM CR 01.0273	AD	\checkmark

SKOOKUM CR HATCHERY

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	SPRING	Egg Take	240,000	
Stock:	NOOKSACK -SF 01.0246	Shipping		
Brood Origin:	HATCHERY	Receive		
Integrated/Segrega	ated:	Planted	200,000	2,000
Estimated Broo Egg Take Goal 2	d Data 240,000			

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	200,000	100.0	2,000	JUVENILE	NOOKSACK -SF 01.0246		\checkmark

SKOOKUM CR HATCHERY

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	LUMMI BAY (SEA POND)	Shipping	1,000,000	25,000
Brood Origin:	HATCHERY	Receive	1,200,000	
Integrated/Segregated:	SEGREGATED	Planted		

Estimated Brood Data

Egg Take Goal

Shipped or Re	ceive	Start Date	End Date	Facilit	у		Number	FPP	Total Pounds	Life Stage
Received		12/2009	12/2009	LUMN	II SEA PONDS		1,200,000			EGGS EYED
Shipped		04/2011	04/2011	LUMN	II SEA PONDS		1,000,000	40.0	25,000	JUVENILE
Estimated F	Release Data	L								
Start Date	End Date	Num Re	elease F	PP	Total Pound	Life Stage	Release Site		Mark Type	Tagged

SKOOKUM CR HATCHERY

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take	1,600,000	
Stock:	SKOOKUM CR 01.0273	Shipping		
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:		Planted	1,000,000	66,667
Estimated Brood	l Data			
Egg Take Goal 1	,600,000			

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	06/2011	950,000	15.0	63,333	JUVENILE	SKOOKUM CR 01.0273	AD	
05/2011	06/2011	50,000	15.0	3,333	JUVENILE	SKOOKUM CR 01.0273	AD	\checkmark

SKY VALLEY SDA SCHL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	MIXED	Receive	10,000	
Integrated/Segregated:	INTEGRATED	Planted	10,000	20

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2009	11/2009	WALLACE R HATCHERY	10,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	2,500	500.0	5	JUVENILE	WOODS CR 07.0884		
05/2010	05/2010	5,000	500.0	10	JUVENILE	WINTERS CR 07.0882		
05/2010	05/2010	2,500	500.0	5	JUVENILE	SKYKOMISH TRB 7.0065		

SNOHOMISH SPORTSMEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	MIXED	Receive	24,000	24
Integrated/Segregated:	INTEGRATED	Planted	24,000	24

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2010	03/2010	WALLACE R HATCHERY	24,000	1,000.0	24 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	03/2010	12,000	1,000.0	12	JUVENILE	PILCHUCK R 07.0125		
03/2010	03/2010	12,000	1,000.0	12	JUVENILE	SNOHOMISH R 07.0012		

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping	631,000	8,740
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	600,000	35,294

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	08/2009	08/2009	CRISP CR REARING PON	600,000	80.0	7,500	JUVENILE
Shipped	02/2010	02/2010	SEATTLE AQUARIUM	1,000	25.0	40	JUVENILE
Shipped	02/2010	02/2010	NWSSC - DES MOINES	30,000	25.0	1,200	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	510,000	17.0	30,000	JUVENILE	BIG SOOS CR 09.0072	AD	
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	BIG SOOS CR 09.0072	AD	\checkmark
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	BIG SOOS CR 09.0072		\checkmark

Memo: Operated by the Muckleshoot Tribe. Currently funded for only 600,000 fish.

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take	4,500,000	
Stock:	BIG SOOS CR 09.0072	Shipping	322,500	3,201
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	3,200,000	40,000

Estimated Brood Data

Egg Take Goal 4,500,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2009	11/2009	REG 4 ED COOPS	2,000			EGGS EYED
Shipped	02/2010	02/2010	SEATTLE AQUARIUM	500	500.0	1	JUVENILE
Shipped	04/2010	04/2010	ICY CR HATCHERY	320,000	100.0	3,200	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	2,800,000	80.0	35,000	JUVENILE	BIG SOOS CR 09.0072	AD	
06/2010	06/2010	200,000	80.0	2,500	JUVENILE	BIG SOOS CR 09.0072	AD	
06/2010	06/2010	200,000	80.0	2,500	JUVENILE	BIG SOOS CR 09.0072		\checkmark

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take	1,925,000	
Stock:	BIG SOOS CR 09.0072	Shipping	883,000	8,802
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	600,000	35,294
Estimated Brood Da	ta	L		1

Egg Take Goal 1,925,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2009	01/2010	MARINE TECH CENTR	5,000			EGGS EYED
Shipped	12/2009	01/2010	NWSSC - DES MOINES	120,000			EGGS EYED
Shipped	12/2009	01/2010	CITY OF TUKWILA	80,000			EGGS EYED
Shipped	12/2009	01/2010	REG 4 ED COOPS	16,000			EGGS EYED
Shipped	03/2010	03/2010	WORDAN PROJECT	1,000	500.0	2	JUVENILE
Shipped	04/2010	04/2010	VASHON SPORTSMEN	30,000	500.0	60	JUVENILE
Shipped	08/2010	08/2010	CRISP CR REARING PON	600,000	80.0	7,500	JUVENILE
Shipped	02/2011	02/2011	SEATTLE AQUARIUM	1,000	25.0	40	JUVENILE
Shipped	02/2011	02/2011	NWSSC - DES MOINES	30,000	25.0	1,200	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	510,000	17.0	30,000	JUVENILE	BIG SOOS CR 09.0072	AD	
05/2011	05/2011	45,000	17.0	2,647	JUVENILE	BIG SOOS CR 09.0072	AD	\checkmark
05/2011	05/2011	45,000	17.0	2,647	JUVENILE	BIG SOOS CR 09.0072		\checkmark

Memo: Operated by the Muckleshoot Tribe. Currently funded for only 600,000 fish.

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	STEELHEAD		Total #	Total Pounds
Run:	SUMMER	Egg Take		
Stock:	GREEN R ADAPTED (9)	Shipping	25,000	2,083
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted	30,000	6,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	12/2009	12/2009	ICY CR HATCHERY	25,000	12.0	2,083 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	30,000	5.0	6,000	JUVENILE	BIG SOOS CR 09.0072	AD	

Memo: Use locally adapted stock trapped at Soos, Palmer, and Keta Creek. Eggs transferred to Soos for incubation.

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take		
Stock:	GREEN R ADAPTED (9)	Shipping	40,000	3,583
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted	35,000	7,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2009	12/2009	ICY CR HATCHERY	25,000	12.0	2,083	JUVENILE
Shipped	03/2010	03/2010	FLAMING GEYSER COOP	15,000	10.0	1,500	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	35,000	5.0	7,000	JUVENILE	BIG SOOS CR 09.0072	AD	

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: Species:	2009 STEELHEAD		Total #	# Tot	tal Pounds
Run:	WINTER	Egg Take			
Stock:	GREEN R NATIVE (9)	Shipping			
Brood Origin:	MIXED	Receive			
Integrated/Segregated:	INTEGRATED	Planted	33,000	5,5	00
Estimated Brood Da Egg Take Goal	ta				
Estimated Transfer	Data				
Shipped or Receive	Start Date End Date Facility	Number	FPP	Total Pounds	Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	33,000	6.0	5,500	JUVENILE	BIG SOOS CR 09.0072	ADLV	

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

	Total #	Total Pounds
Egg Take	90,000	
	25,000	2,083
Receive		
Planted	30,000	6,000
		Egg Take90,000Shipping25,000Receive

Estimated Brood Data

Egg Take Goal 90,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	12/2010	12/2010	ICY CR HATCHERY	25,000	12.0	2,083 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	30,000	5.0	6,000	JUVENILE	BIG SOOS CR 09.0072	AD	

Memo: Use locally adapted stock trapped at Soos, Palmer, and Keta Creek. Eggs transferred to Soos for incubation.

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take	125,000	
Stock:	GREEN R ADAPTED (9)	Shipping	40,000	3,583
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted	35,000	7,000
		L	1	

Estimated Brood Data

Egg Take Goal 125,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2010	12/2010	ICY CR HATCHERY	25,000	12.0	2,083	JUVENILE
Shipped	03/2011	03/2011	FLAMING GEYSER COOP	15,000	10.0	1,500	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	35,000	5.0	7,000	JUVENILE	BIG SOOS CR 09.0072	AD	

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take	35,000	
Stock:	GREEN R NATIVE (9)	Shipping		
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	33,000	5,500
Estimated Brood Da	ta			
Egg Take Goal 35,000)			
Estimated Transfer	Data			
Shipped or Receive	Start Date End Date Facility	Number H	TPP Total	Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	33,000	6.0	5,500	JUVENILE	BIG SOOS CR 09.0072	ADRV	

STILLAGUAMISH HATCH

STILLAGUAMISH TRIBE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:NAStock:STILLAGUAMISH RBrood Origin:HATCHERYIntegrated/Segregated:Factorial Control Cont		Egg Take Shipping Receive Planted	50,000	2,778
Estimated Brood Egg Take Goal	Data			
Estimated Trans	fer Data			

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	50,000	18.0	2,778	JUVENILE	STILLAGUAMISH R -NF	AD	

STILLAGUAMISH HATCH

STILLAGUAMISH TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	SUMMER	Egg Take	300,000	
Stock:	STILLAGUAMISH R	Shipping	225,000	1,125
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	INTEGRATED	Planted		

Estimated Brood Data

Egg Take Goal 300,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	03/2010	03/2010	WHITEHORSE POND	225,000	200.0	1,125 JUVENILE

Start Date End Date Num Release FPP Total Pound Life Stage Release Site Mark Type Tag	Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
---	------------	----------	-------------	-----	--------------------	------------	---------------------	-----------	--------

STILLAGUAMISH HATCH

STILLAGUAMISH TRIBE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHUM		Total #	Total Pounds
Run:	NA	Egg Take	300,000	
Stock:	STILLAGUAMISH R	Shipping	25,000	
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated	:	Planted	250,000	583

Estimated Brood Data

Egg Take Goal 300,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped			STANWOOD HS(STANWOOD)	25,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	03/2010	25,000	1,250.0	20	JUVENILE	SIBERIA CR 05.0324		
05/2010	05/2010	225,000	400.0	563	JUVENILE	STILLAGUAMISH R		

STILLAGUAMISH HATCH

STILLAGUAMISH TRIBE

NORTH PUGET SOUND

Species:	СОНО	Total #	Total Pounds
Run: Stock:	NA STILLAGUAMISH R	Egg Take 70,000 Shipping	
Brood Origin:	HATCHERY	Receive	
Integrated/Segrega	ted:	Planted 50,500	2,780
Estimated Broo Egg Take Goal 7	d Data 0,000		

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	500	250.0	2	JUVENILE	STILLAGUAMISH R -SF		
05/2011	05/2011	50,000	18.0	2,778	JUVENILE	STILLAGUAMISH R	AD	

TOAD CREEK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	KENDALL CR 01.0406	Shipping		
Brood Origin:	MIXED	Receive	15,000	
Integrated/Segregated:	INTEGRATED	Planted	15,000	10

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2009	01/2010	KENDALL CR HATCHERY	15,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	15,000	1,500.0	10	JUVENILE	TOAD CR 01.0560		

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	RAINBOW		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Receive	30,000	2,000
Integrated/Segregated:		Planted	30,000	12,000
				,

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2009	10/2009	PUYALLUP HATCHERY	15,000	15.0	1,000	JUVENILE
Received	10/2009	10/2009	ARLINGTON HATCHERY	15,000	15.0	1,000	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	10,000	2.5	4,000	JUVENILE	SNOHOMISH CO LAKES		
04/2010	04/2010	20,000	2.5	8,000	JUVENILE	KING CO LAKES		

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CUTTHROAT		Total #	Total Pounds
Run:	WESTSLOPE	Egg Take		
Stock:	TWIN LAKES CR45.1140	Shipping		
Brood Origin:	HATCHERY	Receive	2,000	2
Integrated/Segregated:		Planted	2,000	3

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	07/2009	07/2009	CHELAN HATCHERY	2,000	900.0	2 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
08/2009	08/2009	2,000	800.0	3	JUVENILE	REG 3 LAKES		

Memo: Size of Fry and Stockers dependent on time and sponsers pick ups. Region 3 High lakes only. Excess will be extirpated and disposed on site.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	EASTERN BROOK		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Receive	6,000	
Integrated/Segregated:		Planted	4,500	22

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2009	12/2009	FORD HATCHERY	6,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	4,500	205.0	22	JUVENILE	KING CO LAKES		

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	GOLDEN TROUT		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	CALIF-MT WHITNEY	Shipping		
Brood Origin:	HATCHERY	Receive	10,000	25
Integrated/Segregated:		Planted	10,000	25

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	09/2009	09/2009	CHELAN HATCHERY	10,000	400.0	25 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
09/2009	09/2009	10,000	400.0	25	JUVENILE	REG 4 LAKES		

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	RAINBOW		Total #	Total Pounds
Run: Stock: Brood Origin:	NA CALIF-MT WHITNEY HATCHERY	Egg Take Shipping Receive		
Integrated/Segregated:		Planted	14,000	28
Estimated Brood Egg Take Goal	l Data			

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
08/2009	09/2009	1,500	500.0	3	JUVENILE	REG 5 LAKES		
08/2009	09/2009	8,000	500.0	16	JUVENILE	REG 4 LAKES		
08/2009	09/2009	2,500	500.0	5	JUVENILE	REG 3 LAKES		
08/2009	09/2009	2,000	500.0	4	JUVENILE	REG 2 LAKES		

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	RAINBOW		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	40,000	40
Brood Origin:	HATCHERY	Receive	92,000	2,000
Integrated/Segregate	ed:	Planted	40,000	12,100
Estimated Brood	Data		ļ	,

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2009	12/2009	GOLDENDALE HATCHERY	62,000			EGGS EYED
Shipped	02/2010	02/2010	ISSAQUAH HATCHERY	40,000	1,000.0	40	JUVENILE
Received	10/2010	10/2010	PUYALLUP HATCHERY	15,000	15.0	1,000	JUVENILE
Received	10/2010	10/2010	ARLINGTON HATCHERY	15,000	15.0	1,000	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	8,000	100.0	80	JUVENILE	SNOHOMISH CO LAKES		
05/2010	05/2010	2,000	100.0	20	JUVENILE	SNOHOMISH CO LAKES		
04/2011	04/2011	10,000	2.5	4,000	JUVENILE	SNOHOMISH CO LAKES		
04/2011	04/2011	20,000	2.5	8,000	JUVENILE	KING CO LAKES		

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take		
Stock:	TOKUL CR 07.0440	Shipping	215,000	2,150
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted	150,000	30,000
			1	- I

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	08/2009	08/2009	WALLACE R HATCHERY	215,000	100.0	2,150 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	150,000	5.0	30,000	JUVENILE	SNOQUALMIE R 07.0219	AD	

Memo: Eggtake to be coordinated with other Chambers Creek stock facilities. May be used to backfill in-season.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2010				
Species: CUTTH	IROAT		Total #	Total Pounds
Run: RESID	ENT COASTAL	Egg Take		
Stock: TOKU		Shipping		
Brood Origin: HATC	IEDV	Receive	7,000	5
Integrated/Segregated:		Planted	3,400	22

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	EELLS SPRINGS	3,500			EGGS EYED
Received	07/2010	07/2010	ARLINGTON HATCHERY	3,500	700.0	5	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	3,400	155.0	22	JUVENILE	REG 4 LAKES		

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	CUTTHROAT		Total #	Total Pounds
Run:	WESTSLOPE	Egg Take		
Stock:	TWIN LAKES CR45.1140	Shipping		
Brood Origin:	HATCHERY	Receive	2,000	2
Integrated/Segregated:		Planted	2,000	3

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	07/2010	07/2010	CHELAN HATCHERY	2,000	900.0	2 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
07/2010	07/2010	2,000	800.0	3	JUVENILE	REG 3 LAKES		

Memo: Size of Fry and Stockers dependent on time and sponsers pick ups. Region 3 High lakes only. Excess will be extirpated and disposed on site.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Species: RAINBOW	Total #	Total Pounds
Run: NA Egg Ta	ke	
Stock: CALIF-MT WHITNEY Shippir		
Brood Origin: HATCHERY Received		10
Integrated/Segregated: Planted	14,000	28

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2010	02/2010	EELLS SPRINGS	10,000			EGGS EYED
Received	06/2010	06/2010	ARLINGTON HATCHERY	10,000	1,000.0	10	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
08/2010	09/2010	1,500	500.0	3	JUVENILE	REG 5 LAKES		
08/2010	09/2010	8,000	500.0	16	JUVENILE	REG 4 LAKES		
08/2010	09/2010	2,500	500.0	5	JUVENILE	REG 3 LAKES		
08/2010	09/2010	2,000	500.0	4	JUVENILE	REG 2 LAKES		

Memo: Parents must be 100% viral tested. High lake plants.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take	450,000	
Stock:	TOKUL CR 07.0440	Shipping	215,000	2,150
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted	150,000	30,000

Estimated Brood Data

Egg Take Goal 450,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	08/2010	08/2010	WALLACE R HATCHERY	215,000	100.0	2,150 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	150,000	5.0	30,000	JUVENILE	SNOQUALMIE R 07.0219	AD	

Memo: Eggtake to be coordinated with other Chambers Creek stock facilities. May be used to backfill in-season.

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	CHINOOK		Total #	Total Pounds
Run:	SUMMER	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	250,000	31,250
Estimated Brood Da	ta			
Egg Take Goal				

Estimated Transfer Data

· · · · · · · · · · · · · · · · · · ·

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	250,000	8.0	31,250	JUVENILE	SKYKOMISH R 07.0012	AD	

Memo: This production is funded under the Recreational Fisheries Enhancement Bill passed by the 1993 legislature.

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2008			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping	375,000	15,000
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	150,000	8,824

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2010	01/2010	POSSESSION NET PENS	50,000	25.0	2,000	JUVENILE
Shipped	01/2010	01/2010	NWSSC-EVERETT N PEN	20,000	25.0	800	JUVENILE
Shipped	01/2010	02/2010	SOUTH SOUND NET PENS	305,000	25.0	12,200	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	60,000	17.0	3,529	JUVENILE	SKYKOMISH R 07.0012	AD	
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	SKYKOMISH R 07.0012	AD	
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	SKYKOMISH R 07.0012		\checkmark

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	FALL	Egg Take		
Stock:	DESCHUTES R 13.0028	Shipping	1,000,000	8,000
Brood Origin:	HATCHERY	Receive	1,100,000	
Integrated/Segregated:	SEGREGATED	Planted		
		L	1	I

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Re	eceive	Start Date	End Date	Facility	y		Number	FPP	Total Pounds	Life Stage
Received		12/2009	12/2009	MINTE	ER HATCHERY		1,100,000			EGGS EYED
Shipped		04/2010	05/2010	TUMW	ATER FALLS F	HATCH	1,000,000	125.0	8,000	JUVENILE
Estimated I	Release Data									
Start Date	End Date	Num Re	elease F	PP	Total Pound	Life Stage	Release Site		Mark Type	Tagged

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	SUMMER	Egg Take	4,300,000	
Stock:	SKYKOMISH R 07.0012	Shipping	2,400,000	
Brood Origin:	MIXED	Receive		
Integrated/Segregated:	INTEGRATED	Planted	1,250,000	45,536

Estimated Brood Data

Egg Take Goal 4,300,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2010	09/2010	BERNIE GOBIN HATCH	2,400,000			EGGS GREEN

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	600,000	70.0	8,571	JUVENILE	SKYKOMISH R 07.0012	AD	
06/2010	06/2010	200,000	70.0	2,857	JUVENILE	SKYKOMISH R 07.0012	AD	\checkmark
06/2010	06/2010	200,000	70.0	2,857	JUVENILE	SKYKOMISH R 07.0012		\checkmark
04/2011	04/2011	250,000	8.0	31,250	JUVENILE	SKYKOMISH R 07.0012	AD	

Memo: This production is funded under the Recreational Fisheries Enhancement Bill passed by the 1993 legislature.

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Course COU	Г			
Species: COH	40		Total #	Total Pounds
Run: NA		Egg Take	4,500,000	
Stock: SKY		Shipping	3,791,070	15,725
Brood Origin: MIX		Receive		
Integrated/Segregated: INTE	EGRATED	Planted	150,000	8,824

Egg Take Goal 4,500,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2009	10/2009	WSU RESEARCH (PULLMAN)	50	0.1	500	ADULT
Shipped	09/2009	10/2009	QUILCEDA TREATMENT PLANT	20	0.1	200	ADULT
Shipped	10/2009	10/2009	BERNIE GOBIN HATCH	1,600,000			EGGS GREEN
Shipped	10/2009	10/2009	MARBLEMOUNT HATCHERY	1,700,000			EGGS GREEN
Shipped	10/2009	11/2009	WSU RESEARCH (PULLMAN)	10,000			EGGS GREEN
Shipped	11/2009	11/2009	SEATTLE POGGIE CLUB	60,000			EGGS EYED
Shipped	11/2009	11/2009	SKY VALLEY SDA SCHL	10,000			EGGS EYED
Shipped	11/2009	11/2009	REG 4 ED COOPS	11,000			EGGS EYED
Shipped	03/2010	03/2010	SNOHOMISH SPORTSMEN	24,000	1,000.0	24	JUVENILE
Shipped	04/2010	04/2010	REG 4 ED COOPS	1,000	1,000.0	1	JUVENILE
Shipped	01/2011	01/2011	POSSESSION NET PENS	50,000	25.0	2,000	JUVENILE
Shipped	01/2011	01/2011	NWSSC-EVERETT N PEN	20,000	25.0	800	JUVENILE
Shipped	01/2011	02/2011	SOUTH SOUND NET PENS	305,000	25.0	12,200	JUVENILE

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	60,000	17.0	3,529	JUVENILE	SKYKOMISH R 07.0012	AD	
05/2011	05/2011	45,000	17.0	2,647	JUVENILE	SKYKOMISH R 07.0012	AD	
05/2011	05/2011	45,000	17.0	2,647	JUVENILE	SKYKOMISH R 07.0012		\checkmark

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Egg Take	Total #	Total Pounds
Egg Take		
LSS Ture		
	230,000	9,200
Receive		
Planted		
	Shipping Receive	Shipping230,000Receive

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	10/2009	10/2009	REITER PONDS	230,000	25.0	9,200 JUVENILE

Start Date End Date Mulli Kelease 111 Totari Junu Ene Stage Kelease Site Mark Type Tagged	Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
---	------------	----------	-------------	-----	--------------------	------------	---------------------	-----------	--------

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take		
Stock:	TOKUL CR 07.0440	Shipping	195,000	7,800
Brood Origin:	HATCHERY	Receive	215,000	2,150
Integrated/Segregated:	SEGREGATED	Planted	20,000	3,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	08/2009	08/2009	TOKUL CR HATCHERY	215,000	100.0	2,150	JUVENILE
Shipped	10/2009	10/2009	REITER PONDS	195,000	25.0	7,800	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	20,000	6.0	3,333	JUVENILE	WALLACE R 07.0940	AD	

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	CUTTHROAT		Total #	Total Pounds
Run:	RESIDENT COASTAL	Egg Take		
Stock:	TOKUL CR 07.0440	Shipping	2,000	100
Brood Origin:	HATCHERY	Receive	20,000	80
Integrated/Segregated:		Planted	15,000	750

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2010	05/2010	ARLINGTON HATCHERY	20,000	250.0	80	JUVENILE
Shipped	12/2010	12/2010	BERNIE GOBIN HATCH	2,000	20.0	100	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
11/2010	11/2010	9,000	20.0	450	JUVENILE	BLACKMANS LK (SNOH)		
11/2010	11/2010	6,000	20.0	300	JUVENILE	MARGARET LK (SNOH)		

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	STEELHEAD		Total #	Total Pounds
Run:	SUMMER	Egg Take		
Stock:	SKYKOMISH R -SF (07)	Shipping	230,000	9,200
Brood Origin:	HATCHERY	Receive	250,000	
Integrated/Segregated:	SEGREGATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Re	eceive	Start Date	End Date	Facilit	y		Nun	ıber	FPP	Total Pounds	Life Stage
Received		03/2010	03/2010	REITE	ER PONDS		250	000			EGGS EYED
Shipped		10/2010	10/2010	REITE	ER PONDS		230	000	25.0	9,200	JUVENILE
Estimated I	Release Dat	a									
Start Date	End Date	Num Ro	elease F	'PP	Total Pound	Life Stage	Releas	e Site		Mark Type	Tagged

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take		
Stock:	TOKUL CR 07.0440	Shipping	195,000	7,800
Brood Origin:	HATCHERY	Receive	215,000	2,150
Integrated/Segregated:	SEGREGATED	Planted	20,000	3,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	08/2010	08/2010	TOKUL CR HATCHERY	215,000	100.0	2,150	JUVENILE
Shipped	10/2010	10/2010	REITER PONDS	195,000	25.0	7,800	JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	20,000	6.0	3,333	JUVENILE	WALLACE R 07.0940	AD	

WHATCOM CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHUM		Total #	Total Pounds
Run:	NA	Egg Take	2,500,000	
Stock:	WHATCOM CR 01.0566	Shipping	2,600,000	
Brood Origin:	HATCHERY	Receive	2,300,000	
Integrated/Segregated:	SEGREGATED	Planted	2,000,000	2,500

Estimated Brood Data

Egg Take Goal 2,500,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2009	01/2010	KENDALL CR HATCHERY	2,500,000			EGGS GREEN
Shipped	12/2009	01/2010	RFEG 1 NOOKSK/SAMISH	100,000			EGGS EYED
Received	02/2010	02/2010	KENDALL CR HATCHERY	2,300,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	2,000,000	800.0	2,500	JUVENILE	WHATCOM CR 01.0566		

WHATCOM CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	PINK		Total #	Total Pounds
Run:	NA	Egg Take	600,000	
Stock:	WHATCOM CR 01.0566	Shipping	600,000	
Brood Origin:	HATCHERY	Receive	550,000	
Integrated/Segregated:	SEGREGATED	Planted	500,000	500

Estimated Brood Data

Egg Take Goal 600,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2009	11/2009	KENDALL CR HATCHERY	600,000			EGGS GREEN
Received	12/2009	12/2009	KENDALL CR HATCHERY	550,000			EGGS EYED

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
02/2010	02/2010	500,000	1,000.0	500	JUVENILE	WHATCOM CR 01.0566		

WHATCOM CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take		
Stock:	KENDALL CR 01.0406	Shipping		
Brood Origin:	HATCHERY	Receive	40,000	1,600
Integrated/Segregated:	SEGREGATED	Planted	40,000	8,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2009	10/2009	KENDALL CR HATCHERY	40,000	25.0	1,600 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	40,000	5.0	8,000	JUVENILE	WHATCOM CR 01.0566	AD	

Memo: Parents must be 100% viral tested. Eggs/Fish must be held on isolated pathogen free water.

WHATCOM CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2010		
Species:	STEELHEAD	Total #	Total Pounds
Run:	WINTER	Egg Take	
Stock:	KENDALL CR 01.0406	Shipping	
Brood Origin:	HATCHERY	Receive 40,000	1,600
Integrated/Segregated:	SEGREGATED	Planted 40,000	8,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2010	10/2010	KENDALL CR HATCHERY	40,000	25.0	1,600 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	40,000	5.0	8,000	JUVENILE	WHATCOM CR 01.0566	AD	

Memo: Parents must be 100% viral tested. Eggs/Fish must be held on isolated pathogen free water.

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Species:	RAINBOW	Total #	Total Pounds
Run: Stock:	NA SPRING CR-GOLDENDALE	Egg Take	
Brood Origin:	HATCHERY	Shipping Receive	
Integrated/Segregat	ed:	Planted 17,000	8,500
Estimated Brood Egg Take Goal	l Data		

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	03/2010	8,500	2.0	4,250	JUVENILE	SNOHOMISH CO LAKES		
03/2010	03/2010	8,500	2.0	4,250	JUVENILE	ISLAND CO LAKES		

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	CHINOOK		Total #	Total Pounds
Run:	SUMMER	Egg Take		
Stock:	STILLAGUAMISH R	Shipping		
Brood Origin:	HATCHERY	Receive	225,000	1,125
Integrated/Segregated:	INTEGRATED	Planted	220,000	2,444

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2010	03/2010	STILLAGUAMISH HATCH	225,000	200.0	1,125 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	220,000	90.0	2,444	JUVENILE	STILLAGUAMISH R -NF	AD	\checkmark

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	RAINBOW		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Receive	20,000	333
Integrated/Segregated:		Planted	17,000	8,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	06/2010	06/2010	ARLINGTON HATCHERY	20,000	60.0	333 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2011	03/2011	8,500	2.0	4,250	JUVENILE	SNOHOMISH CO LAKES		
03/2011	03/2011	8,500	2.0	4,250	JUVENILE	ISLAND CO LAKES		

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009		
Species:	STEELHEAD	Total #	Total Pounds
Run:	SUMMER	Egg Take	
Stock:	SKYKOMISH R -SF (07)	Shipping	
Brood Origin:	HATCHERY	Receive	
Integrated/Segregated:	SEGREGATED	Planted 70,000	8,750
Estimated Brood Da	ta		
Egg Take Goal			

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	70,000	8.0	8,750	JUVENILE	STILLAGUAMISH R -NF	AD	

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2009			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take		
Stock:	STILLAGUAMISH R	Shipping		
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted	140,000	23,333
Estimated Brood Dat	a			
Egg Take Goal				

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	140,000	6.0	23,333	JUVENILE	STILLAGUAMISH R -NF	AD	

Memo: Exact planting allotments at the discretion of Fish Management.

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	STEELHEAD		Total #	Total Pounds
Run:	SUMMER	Egg Take	112,000	
Stock:	SKYKOMISH R -SF (07)	Shipping		
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted	70,000	8,750
Estimated Brood Da	ta			
Egg Take Goal 112,00)0			

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	70,000	8.0	8,750	JUVENILE	STILLAGUAMISH R -NF	AD	

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2010			
Species:	STEELHEAD		Total #	Total Pounds
Run:	WINTER	Egg Take	200,000	
Stock:	STILLAGUAMISH R	Shipping		
Brood Origin:	HATCHERY	Receive		
Integrated/Segregated:	SEGREGATED	Planted	140,000	23,333
Estimated Brood Da	ta			
Egg Take Goal 200,00	00			

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	140,000	6.0	23,333	JUVENILE	STILLAGUAMISH R -NF	AD	

Memo: Exact planting allotments at the discretion of Fish Management.

WORDAN PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year:	2009			
Species:	СОНО		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	BIG SOOS CR 09.0072	Shipping		
Brood Origin:	MIXED	Receive	1,000	2
Integrated/Segregated:	INTEGRATED	Planted	1,000	2

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2010	03/2010	SOOS CREEK HATCHERY	1,000	500.0	2 JUVENILE

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	03/2010	1,000	500.0	2	JUVENILE	LTL SOOS CR 09.0092		